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Preface

The idea of writing notes for Cambridge A-level Economics came to me in 2003, when, having
already taught for a year, | realized that no single economics book available in the local and
international markets covered all the topics with the depth and perspective required by the CIE
syllabus. Both students and teachers had to consult 3 to 4 different books to find all the material
that they needed—private candidates and new teachers had it even worse. Furthermore, it was
really difficult for students to keep having to refer through different books when the exams were
close and they were starved for time. | took on the challenge and decided to write a
comprehensive text that explicitly followed the syllabus and exam pattern of the CIE. A year and
a half later, in the middle of 2004, | had finally written and published four entire volumes of A-
level economics notes. Part of them had been hand-written, and part of them had been typed.

Soon, word of their usefulness spread, and they were bought all over Pakistan.

The notes had served their purpose well till the end of 2014. Till that point, there had only been
minor changes in the syllabus. But now, there was a dire need to update them, for the new

syllabus for the 2016 examination introduced some significant changes in course content.

In this new and improved edition, old topics have been revised and new topics have been
added. At the end of each topic there is a relevant list of essay questions spanning from 1990 to
2015. These questions provide a clear guideline regarding how the examiners assess students'
knowledge on the topics for Paper 2 and Paper 4, allowing the student to practice effectively.
While writing these notes | kept in mind the way in which the examiner tests MCQs as well. The
notes have been divided into four volumes to make it easier for those who are following the AS
and A2 track separately and for those who are taking the composite exam,; the syllabus division

in the following pagesvhas been provided for this express purpose.

| hope my efforts will help to contribute both to the learning of the student, as well as to the
inquisitiveness of any teachers of A-level economics. Your suggestions will help me improve the

quality of the content for later editions and will be highly appreciated.

Imran Latif
Cell: +92 300 441 0900

Email: imranlatifmalik@gmail.com
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oY ¢ AGGREGATE DEMAND (AD) AND AGGREGATE SUPPLY
. 4 gngoe 2 oeermmants of AD and AS Curves
BosLelaGe XU
e dtrcior bewween 2 movement aiong and a shift in AD and AS
e rieracion of KD 2rd AS and the determination of the level of output, prices ang

UNIT 22 MONEY AND INFLATION:

s \orey ‘
Sncions zoc charadienstics in 2 modem economy
vaner, cash ang bank Seposits, checks, near money, liquidity

b ity
- e definition of inflation
reasurenment of inflation
the distinction between money values and real data (shifted to Book 2 Unit 1)
the causes of inflation (cost-push and demand-pull inflation)
the consequences of inflation

UNIT 3: INTERNATIONAL TRADE:
8. Gpscialization and division of labor

b. Principles of absolute and comparative advantage
the distinction between absolute and comparative advantage

free trade area, customs union, monetary union, full economic union
trade creation and trade diversion

t the benefits of free trade, including the trading possibility curve
. 6, Protactionism
: the meaning of protectionism in the context of international trade

different methods of protection and their impact, for example, tariffs, import duties and

quotas, export subsidies, embargoes, voluntary export restraints (VERs) and excessive
administrative burdens (‘red-tape’)

- the arguments in favor of protectionism

f NIT 4 EXCHANGE RATE:

) Exchange rates

. = definitions and measurement of exchange rates

(AS):
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Syllabus

[conomics 0708 11

nominal, real, trade-weighted exchange rates

b. Exchange rate systems
- the determination of exchange rates floating, fixed, managed float
c. Changes and effects
the factors underlying changes in exchange rates
- the effects of changing exchange rates on the
- domestic and external economy using AD, Marshall-Lerner and J curve analysis
- depreciation/appreciation
devaluation/revaluation

d. The terms of trade
the measurement of the terms of trade

causes of changes in the terms of trade
— the impact of changes in the terms of trade

UNIT 5: BALANCE OF PAYMENTS:

a. BOP accounts
the components of the balance of payments

accounts (using the IMF/OECD definition)
— current account
— capital account
— financial account
— balancing item
b. BOP equilibrium and disequilibrium
_ meaning of balance of payments equilibrium and disequilibrium
_ causes of balance of payments disequilibrium in each component of the accounts
- consequences of balance of payments disequilibrium on domestic and external economy

UNIT 6: GOVERNMENT MACRO INTERVENTION:

a. Types of policy
- fiscal policy
- monetary policy,
- supply side policy
(instruments of each policy)
b. Policies to correct balance of payments disequilibrium
~ assessment of the effectiveness of fiscal, monetary and supply side policies to correct a

balance 'of payments disequilibrium
(expenditure-reducing an expenditure-switching)

c. Policies to correct inflation and deflation
— assessment of the effectiveness of fiscal,
- monetary and supply side policies to correct inflation and deflation

Book 3 (A2 Level Microeconomics)
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4 Glossary of command words

This glossary should prove helpful to candidates as a guide, although it is not exhaustive and it has
dellberately been kept brief. The number of marks allocated for any part of a questicn |s a guide to the depth
required for the answer.

Command word What it means

Calculste Work out using the information provided

Define Give the exact meaning of

Describe Give a description of, explain the main features of

Identify Mame the key knowledge point

lllustrate Give examples, use a diagrem

Outline Describe the key points without detall

State Give a concise answer with little or no supporting argument required

Analyse Explain the main points in detail, examine closely, separate into parts and
show how all the parts connect and link

Compare Explain the similarities and differences between

Explain/how Give clear reasons or make clear the meaning of, use examples and explain
the theory behind the question. This command word requires ‘Knowledge and
Understanding' as wall as ‘Application’

Consider Give your thoughts about, with some |ustification

Assess Show how impartant something is, give your judgement on

Comment upon

Give your reasoned opinion on, with explanations

Criticise Give an opinion but support it with evidence

Discuss Give the important arguments for and against, often requires a conclusicn.
This command word requires ‘Analysis’ and 'Evaluation’

Justify Explain why the arguments for an opinion are stronger than the arguments
against

Evaluate Discuss the impartance of, judge the overall worth of, make an attempt to

weigh up your opinions

To what extent

Give reasons for and against, come to a conclusion with a justification of
which arguments are strongest and which are weakest
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UNIT1 Syllabus 2016 — 18

a. the distinction between mo'ney
values and real data

Ag g re g ate b. Ag.grogate démand (AD) & ‘ Aggregate

supply (AS)

— the shape and determinants of AD and
DemaNd (Ad) AS Curves . .

- AD=C+I1+G+(X-M)
— the distinction between a movement

& Ag g re 9 ate “along and a shift in AQ and AS
s u p p | y ( A S) c. National income equilibrium

— the interaction of AD and AS and the
determination of the level of output,
prices and employment

AS Level
Macroeconomics
Notes Book 2
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Unit 1

Unit1 Aggregate Demand (AD) and Aggregate Supply (AS)

Concepts of National Income

- Gross Domestic Product (GDP)
- Gross National Product (GNP)
- Disposable income (Ya)

- Nominal GDP

- Real GDP

Gross Domestic Product (GDP):

Gross domestic product (GDP) is the monetary value of all final goods and services produced within the
geographical boundaries of a country irrespective of whoever is producing it, in one year. Whereas
monetary value means the value of a product expressed in terms of money. GDP will not include all
those goods which are produced abroad, in previous year and/or goods that are unfinished.

Monetary Value = Price x Quantity

GDP=P1Q1+P2Q2+P3Qs ......... PnQn = XPQ

“Py Q1" is the monetary value of Good “1”.
“P2 Q2" is the monetary value of Good “2”.
“P3 Q3" is the monetary value of Good “3".
Gross National Product (GNP):

Gross national product (GNP) is the monetary value of all goods and services which are produced by
the citizens of a nation, irrespective of wherever they are living in the world, in one year.

GNP = GDP + Net Property Income from Abroad
Net property income from abroad = Property income from abroad — Property payment to abroad

Disposable National Income (Yqy):

Disposable income (Ya) is the income left after paying income tax (direct tax).
Disposable income = National Income - Income Tax

Nominal GDP:
Nominal GDP is the GDP figure measured at the current year prices and is not yet adjusted for inflation.

Nominal GDP = Current Year Price index x Current Year Output

Example (‘00
Current Year Price index = $120 o) 6\
Current year output = 3,000 units 0\: 00
Nominal GDP (Current Year) = 120 x 3,000 = $360,000 ‘\o N

7’
Real GDP: 24

Q

Real GDP is the GDP figure measured at constant or base pear price level an& stbeen adjusted for
)

inflation. f:\ ¢
Real GDP = Base Year Price Index x Current ut
Ryt

Example: ‘o Q{\\
Year 2000: O
Base year price index = $100 o @"}

Base year output = 20 units Q:iyy\
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Unit 1

current year. .
current year output = 30 units
Real GDP (Current Year) = 100 x 30 = $3,000

CONVERSION OF NOMINAL GDP TO REAL GDP

To convert nominal national income to real national income, the income deflator is used. The income
deflator is a value that removes the effect of inflation from nominal national income. The following steps
explain the procedure of the deflator.

Nominal national income
Deflator

Real national income =

Current year price index

Where Deflator =

Base year price index

Example:

Nominal NY=$200 million
Current year price index = 110
Base year price index=100

Current year price index _ 110

Deflator = — =—=11
Base year price index 100
. . Nominal national income 200
Real national income = =— =$182m
Deflator 1.1

Sectors and Types of Economies:

mmmm

Expenditure on Expenditure on Expenditure on merit and Expenditure on
consumer goods capital goods public goods exports and imports
Consumption and saving Investment Government spendmg and Exports and imports

taxation
C,S | GT X, M

4
Types of Economies OC/\Q

P

.
4-Sector

2-Sector

Sectors Econom 3-Sector Economy Econom

With . : QP‘ oY

Government With Foreign Sectti @0

Households v v v X¥0 v
Firms v v v \X.k\.g-p v
Government x v & S‘\ v
International Trade x x WO v
Type of Economy Closed Closed ,,%Qﬁén Open

@fﬁx
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Unit 1 ‘JUppI/ (e
)

Aggregate Demand (AD):
Aggregate demand (AD) is the total spending on an economy’s goods and services at 5 given prige |,
in a given time period. Y

Demand for an economy's products, known as aggregate demand (AD), comes from householgs,
and the government within the country and from households, firms, and governments in other counfriersms'

Aggregate demand (AD) consists of four components:

Economy
v
Sectors
l
Households
spending by : : govemment The part of the
o hm:::? g(l)dosdgnand spse:c(:?rgﬁ%spg:ate spezding t°" P”db"C econon?yinvolved in
nsu : and merit goods i ;
senvices capital goods iade Lo, oxports ind
| | l l
Consumption Investment Govemment Net Exports
spending
y A + A
Cc + | + G + X-M =AD

The Aggregate Demand curve

The aggregate demand curve shows the different quantities of total demand for the economy’s products

(real GDP) at different price levels.
AD=C+I|+G+X-M

General Price Level

A
&
a . 0(‘/\0
P, L’
N
P, b \o\'\\or\”\
Q\) O‘bq'
®©
AD, it"oﬁov"
SR
) Y, Y, Real &\*‘\

f\ rise in the price level will cause a contraction in aggregate deﬂ?ﬁd-ééd a fall in the price level will result

:b(a)c:xtension in aggregate demand. The downward sloping n @S of the AD curve is shown in Figure
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why does the AD curve slope downward?
stionshp between aggregate dermand and T U2 evel might seem Mz L Te rezfiorsnig
f‘,e '?\ L6 L -’ -

p
- s et Aoer
e fo e al orodiuct, Trecs 5 NowEvEr 2 0T ot e
. ﬂnre:‘e—vxda’.e.,{% norndUu3 orod cd ==

znge e reiave pree of 2 poroduct
"

p P -3

asmand CuTve tnr 2 product shows T2 reigtonsing Detween 2
N e quantty demanded. The pnce of the product s changng Dt £ 8 2ssumes Tt Te oroes of offer
23,.(: e G (A= et

- S mrrm 2 B o
Gucts Ve mot changed More of the product IS purch2ses winen < e e 2ls r LEn LA ans EDE
G e ! ’ s
wartch 2WE from rval producs . o - )
~rirast 1 e G358 of #e AD curie, te prices of most oroducs are chargng N Te sarme Crecion
gy o o o » - ; res s s
wa won does aggregate demand B2l when $he price level rses. 2rC WILE vETEEY
AL K - )
There are UrEe reasons.

The wealth effect The intemnational trade effect

Demand for lczns

Purchasing powes of Exports—maore price Competive irderest rate
DECe2%2 | fnancial assetst —real Imporis—ess Vgr;-:::f.’"f:f.‘:‘% o st of oTONNG
te) weaitht — C1 — AD? Net exports (X—M) T —AD e - D o
. - ) e Demand foriczns
P Purchasing power of Exports—iess pr(f:‘r;:{r ,f:.: :a-‘ rierest rzte (1))
T 2 | fnzncial assets| —real Imports—more ,:.';,c .,.{"'.f,.,. e of DOTOWiNG *—
‘b | wezlth | —-C| —AD| Net exports (X—-M), —AD. C,T,s—,: . _D:
Changes in Aggregate Demand
Fogregate demand can Change in two ways:
_ A movement glong the same 2ggregate demand curve.
_ A shi® of the aggregate demand Curve.
Changes in aggregate demand (AD)
| : Shift of the AD curve 2
Movement ziong the same 2 |
‘ AD curee i
l due o exogenous!adosj
due to endogencusiador
(generzl price level) l @

v ! OC A9

v
== ~ o] S
[ Exension B

. Wi
Generzl Price Level General Price Level \o
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Shants i the Aggregate Demand curve
. movement along the AD curve; but, if any factor cther ..., "
A change in the pnoe eve! wﬂ: a _then the entire AD curve will shift. A shift to ther:gfltd!‘,' B Dtie,
mmwd""”.d (ADo to ADz), whereas 3 shift to the right (AD; to A,D.[;m,;ﬁ,‘ff‘-z:;,
decrease I aggregate - re above on the right. T
: demand, as shown in the figu
norease N
: factor other than the price level will influence consumption, investrent ¢ P
Amm :!d’n,:( exports, shifting the AD curve. Examples that would cause an increase ir;j BJJr"
Investment (I) | Government Spending (G) Net Eprns (X'M)
: - interest rate - political objectives - relati .
| - popuiation - business - level of economic activity | exchgig?ff;
| - weali expeciations - social objectives - relafi Y
| - income tax - corporationtax | - need for merit and public domg’fﬁf“ﬁ"” "“,
' - money supply ec s > 1Aly produces
- confidence | - Subsidies good products
. 2ge stuctre - technology - foreign & domestic
B o - law and order econormic grovrh
- range m"'m . ms{ab’my - protectionisrm
- avaizbity of credt - iabor
. distrbution of income | - costof raw
- expeciations regarding ;natenals .
income in the future - foreign relations
£ Ww’m - Mmre
prices in the future - profits
- govemment welfare - demand for
spending consumer goods

Determinants of Consumption and Savings:

1. Wealth: A rise in wealth causes consumption to rise and saving to fall. Where as a fall in wealth

causes consumption fo fall and saving to rise.
Income tax: When income tax rises, consumption and saving fall. When income tax falls,

2.

3. Age: In an older population, consumption falls and saving rises. In a younger population,
consumption riges and saving falls.

4. Family size or population: If the family is small, then consumption is low and saving is high. If the

family is large, then consumption is high and saving is low.

5. Range of goods and services: When there is a wide range of goods and services in the markel,
consumption is high and saving is low. But, when there is a narrow range of goods and s?:ac
consumption is low and saving is high. A

6. Interest rate: When the rate of interest is high, consumption is low and saving is high. Bg(, éfz,éﬁ the
rate of interest is low, consumption ig high and saving is low. N

7. Avaﬂaplﬁty of credit: If credit is easily available, consumption is high and savinqg:é'wflf credit is
riot easily avaitable, consumption is low and saving is high, 2

¢. Expectations regarding an increase in future income: If people expect aQ?;?_ofa(gse in income,
consumption rises and saving falls. If people expect a decrease in incorpegcofsumption falls and

o sa/ing rises, ™~ O

- Price level: If the price levels falls, consumption rises and saving@ﬁ, @f? the price level rises,
Mwwmmmm falls and saving rises, However, if the price level is exppste 16 rise further in the future,
rent consumption rises and saving falls more rapidly.

')
Determinants of Investment: @o?&

1, 700hoology' , )
1 2 decrease iTn' progress leads to an increase i%?gvgfment, Technological regress leads
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ynit 1

10.

1.

12.

st of capital: If there is a decrease in the cost of capital, investment rises. If there is an increase in

Co .
of capital, investment falls.

the cost . . - '
Corporation tax: f there is a decrease in corporation tax, investment rises. If there is an increase in
corporation tax, investment falls.

Subsidies: An increase in subsidies causes investment to rise. A decrease in subsidies causes

investment to fall.
Profits: An increase in profits leads to a rise in investment. A decrease in profits leads to a fall in

investment.

infrastructure: An improvement in infrastructure causes investment to rise. A worsening of
infrastructure causes investment to fall.

Political stability: Politically stability leads to an increase in investment. Political instability leads to a
fall in investment.

Law and order: A lower crime rate and strong legal institutions will lead to an increase in investment.
High crime rates and weak legal institutions will lead to a decrease in investment.

Business expectations: High business confidence leads to an increase in investment. Low business
confidence leads to a decrease in investment.

Foreign relations: Good foreign relations lead to an increase in investment. Bad foreign relations
lead to a decrease in investment.

Interest rate: If the interest rate is low, investment is high. If the interest rate is high, investment is

low.
Demand for consumer goods: An increase in demand for consumer goods leads to greater
production, which, in turn, requires more machinery (an increase in investment). Similarly, a decrease

in demand for consumer goods will lead to a decrease in investment.

Determinants of Government Spending:

1.

2.

3.

4.

Political objectives: Political seasons also affect government spending. Before elections

government spending is high but after elections government spending is low.
Level of economic activity: Economic conditions are also an important factor. During recession

government spending rises whereas during boom government spending falls.

Social objectives: Government may spend more to eradicate poverty and for more equitable

distribution of income.
Need for merit and public goods: Need for merit goods such as education, healthcare, and public

goods like street lights, etc.

Determinants of Exports and Imports:

1.

2

Foreign income: If foreign income rises, exports will also rise whereas if foreign income falls, exports

will also fall.
Domestic income: |f domestic income rises, imports will also rise and when domestic income falls,

imports will also fall.

Relative quality: If quality of imports is better than the quality of locally produced goods then {MREHs
will rise but if the quality of local goods is better than the imported goods than impongr@ dall. If
quality of local goods is better than the quality of imported goods than exports rises byty «@;Qlity of
local goods is worse than the imported goods than exports fall. & N
Tariff or duties (protectionism): If tariff applied on imports increases imports @; "but if tariff

applied on imports decrease than imports will rise. If tariff imposed on our expw er countries
increase than exports will fall but if tariff imposed on our exports by other colnifigs decrease than

exports will rise. X0
Exchange rate: If a currency depreciates, imports get expensive and e%é?tsséecome cheaper which

leads to a rise in exports and a fall in imports. On the other hand gss ({ghcy appreciates, exports
(4

become expensive and imports become cheaper which leads to a g Qzﬁ}rports and a fall in exports.

Q%
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Unit 1
Aggregate supply (AS)
to supply at a given price level in a given time period.

supply (SRAS) and long-run aggregate supply (LRAS).

The short-run aggregate supply curve

A
SRAS

General Price Level

Www.megalecie.Ccom  Aggragate Demand (AD) a1
! /\gqm

Aggregate supply (AS) is the total output (real GDP) that producers in an ¢
Regarding aggregate supply (AS), economists sometimes distinguish be
Short-run aggregate supply (SRAS): the total output of an economy that wil| pe

has not been enough time for the prices of factors of production to change.
The short-run aggregate supply curve slopes up from left to right as shown in Figure below

q:n(‘ o
"UDM
VAV
')

con .
omy are Willing ang 4
’ q )IQ

tween short-ryn aYgreqa
“adle

Supp“ed When thEre

three possible reasons for this positive relationship:

y
; As the price level
1 — wages do not
change — gap
between  output

and input prices 1
— profit 1— AS?

Although the wage rates and raw material costs
remain unchanged in the short run, average
costs may rise as output increases. This is
because, for example, overtime payments may
have to be paid and costs will be involved in
recruiting more members. To cover any extra
costs that may be involved in producing a
higher output, producers will require higher
prices — AS1

0 Y, Y, Real GDP

As the price level rises, producers are willing and able to supply more goods and services. There are

The profit effect The cost effect The misinterpretation effect

Producers may confuse changes
in the price level with changes in
relative prices. They may think
that a rise in the price they receive
for their products indicates that

their own product is beco ing
more popular. As a res y
may be encouraged ’t&@ @uce

more — AS1 A A

Shifts in the Short-run Aggregate Supply curve

there are four main causes of a shift in the SRAS curve. These are:

curve to the left as illustrated in figure below.
2. A change in taxes on firms: A reduction in corporation tax or in
SRAS.
3. A change in factor productivity/quality of resourcesi: A
productivity will cause an increase in aggregate supply bot

ww.youtube.com/megalecture
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( .
{e tgx"\es will cause an increas
O

is€”it9labor productivity and/or capital
lﬂr&}b‘gshort run and long run.

N
\\0\/\

9,
While a change in the price level will cause a movement along the short-run agaa%é? Supply curve:

®
1. A change in the price of factors or cost of production: A rise in wage"(gt’:e\@ not matched by an
increase in labor productivity, and raw material costs will cause a d@é\ @in SRAS,
N

shifting the
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The shape of the long-run aggregate supply curve

curve shows the relationship between resl GOP zrd changes 0 Te U2

‘The long-run aggregate supply
for input prices to adjust to changes in aggregate cemant.

lovel whan there has been time

Keynoslans are the followers of the economist John Maynard Keynes who maintain that govemment

intervention is needed to achieve full employment.

ists are the economists who think that the LRAS curve is vertical anc Dzt
full employment without govemment intervention.

—

®

New classical econom
oconomy will move towards
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shifts in the LRAS curve

goth Keynesian and new classical ec ists
5 2conomists agree that the causes of a shift in the LRAS curve are a

change In the quantity and/or quality of re
| | - g ng (fac Vi
prOducwe botontial of an economy. y ources (factor productivity). Both of these will increase the

L crausos of an Iincrease in the quantity of resources in the long run are:

1. A Change in the Quantity of Resources 2. Change in Quality (Productivity) of

Land: _ Resources:
Land may increase because of: Labour:
Discovery of oil, metal or mineral reserves by - Wage rate
active search, —  Education and training

—  Eroded, water-logged land may be made - Technology

usable for agricultural purposes —  Work conditions
(Reclamation of land) —  Length of working hours

Labour: - Fringe benefits\perks\non-monetary

benefit\inon-pecuniary benefits

-~ lncre.ase in tota! population, especially in the —  Bonuses and commissions
working population. —  Promotional opportunities

— Change in structure of population from less — Health

Labor may increase by:

dependent population to more working
population, even without an increase in total | Capital:
population. - Tef:hnology
_ Immigration is greater than emigration. —  Skilled labor
_ Increased women-participation in jobs. - Depreciation, etc.
—  Lower school-leaving age. Land: Techrol
—  Higher retirement age. - Sﬁﬁlegolgggr
Capital: - e
- Net investment - Fertlllty riat?s, etc.
_  Rate of return on Capital E"trepr%no?:r:fuhngé o
- Interest rate -
—  Management techniques, etc.

_  Business optimism and pessimism
Government policies about taxation
and subsidies

—  Political stability

~  Technology
- Infrastructure
Shifts in Keynesian LRAS
Price Level
LRAS, LRAS, LRAS, g .
-
- 8 v
Fall|Rise x g <}
| = Fall }, Ris®
o <——\.—§f;‘
Q (\ 3(
§ &
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Factors that ahift both AD and AB)

s investment

o el immigration
o govemment spending on education

Interaction of aggregate demand and aggregate supply and n, tion,
a

income equllibrium

ational Income and the price level are determined where aqq.., .
ly. The macroeconomic equilibrium is illustrated by the p()in{v}::z’n
hown In the diagram below.

The equilibrium level of output or n
demand I8 equal to aggregate supp
the AD and AS curves Intersect, as 8

Price level

Po E,
AD
0 Y, Real GDP

the excess demand would push the price level back up to the

If the price level was initially below Po,
some goods and services would not be sold an ﬁgls

equilibrium level. If the price level was above Po,
would have to cut their prices. e c;\
>0
EN°
Changes in national income equilibrium ‘O\\Q:\’
$e) ,
Changes in aggregate demand and aggregate supply will move the economy to g%&\jﬂnacroeconomlc
position. Where that position will be will depend on the X O
o

- cause of change, i.e., AD or AS Qx{;\

- direction of the change & o\v\

- size of the change b 06

O@

- initial level of economic activity g‘:é
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Shifts in AD

_,!.;_Ei_s_e_i_"_,,ég (Demand-pull inflation)

Do BV

»

Real GDP

Y_E_;‘ Y_:__;J YF
|f the aggregate demand curve intersects the
| aggregate supply curve prior to output rate Y1, then
any increase in demand will not lead to arise in the
price level. Thus a shift from ADo to AD1 leaves the
price level unaltered at Po. A shift from AD1 to ADg,
however, will cause the price level to increase P1.
After output rate Yz, any increase in demand will
simply result in a higher price level since, by
definition, at full capacity output no more output is

www.youtube.com/megalecture

Ire.com

Shifts in AS

a. Riso in SRAS (Supply-side policies)

An increase in aggregate supply
from ASo to AS1 causing the
Po to P1 and GDP increases

(AS) will shift AS
price level to fall from
from Yo to Y1.

physically possible.

b. Fall in SRAS (Cost-push inflation)

b. Fall in AD (Deflation)

fall in general price level
s at or close fo full-
AD on price level and
tion of the economy.

A fall in AD will lead to
(deflation) if economy i
employment. Effect of fall in
GDP depends upon initial posi

A decrease in aggregate suppl

from ASo to AS1 causing price
push inflation) from Po to P1 and GDP decreases

from Yo to Y1.
Price level
3

[f both AD and AS shift together then effect on

price level and OQR ill depen

y (AS) will shift AS
level to rise (cost-

AS,

.........................

Y, p
d upon relative sizé of

e

ovl\gv‘

shifts in AD Giiiial
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(Trade) Cycle

n
is defined as the pe
bt e cx‘me tendency for the vO
; us;:c:; to p:oceed ina succession of boom
and
below.

Real GOP
| Actual output

Trend growth in
potential output

A‘ecovery

odic fluctuation of national output around its long term e
lume of economic activity (GNP) such as employmen p& r{’
s and slumps (also called troughs) as shown in dnq,' ’

dl ;I{['

35
>

Time

refers to the level of output, foreign trade, investment, share prices, employment and

Economic activity
e cycle are labeled as a, b, and c. Booms and

consumer spending. The different phases of the trad .
recessions can last for several months or even years and then come to an end. No two trade cycles are

quite the same. The interval between the peaks or between the troughs (which is also called the duration
of a trade cycle) is not constant, and the intensity of the troughs varies, trade cycles show a rough pattern

over time and display unpredictable deviations from the expected pattern.

Stages of the trade cycle
The trade cycle consists of four phases: boom (point b), recession (point H between b and c), trough

(point a or ¢), and recovery (between a and b). Recovery follows a recession, then reaches a peak/boom
and is succeeded by another recession. The length of a business cycle is measured by the interval
between the peaks (or between any other pair of corresponding points). Some economists argue that the
cycles are brought about by new inventions, population growth, mineral or oil discoveries, political factors,
and war. The cycles tell us about the behavior of the economy as a whole.

&
Features Boom | Recession | — Slump | Rocovery NS

Business pessimism Lowest Rises Highest Fans~ Q"
IBusmess optimism Highest Falls Lowest . ‘Tge\g*v
:[\)Iestment Highest Falls Lowest NO'Rises
o e
alls ow Rises
E:‘r:;y:e:ltl inflati o oS ;,ﬁ'%@ oot
Current z::counta| = nghe§t e ¢ Q@s’t e
Deficit Improves , [ Stirplus Worsen |

Boom . . . « . . 0 00

o iﬁc?egzgoz r:;l::rlobusmess a(':thlty Is expanding, i.e., pro %ﬁ%creases, prices and wages rise,

B o iow o ployment decll.nes'and the current accoun®i&gh deficit. This phase is characterized
: employment, high infiation and a deficit current account
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Aggregate Demand (AD) and Aggregate Supply (AS)

Recession is a temporary falling off in business activity which may or may not develop into a trough.
During a recession, the rate of inflation falls, exports will rise and imports fall; consequently, the balance
of payments improves, consumption and investment are low and interest rates charged by banks are also

low. In brief, this phase is characterized by low output, high unemployment, low inflation and a surplus
current account.

Trough is when business activity is at the bottom.

In the recovery phase of the trade cycle, an attempt is made by the government to expand the economy
either by monetary means (e.g., encouraging banks to increase their lending) or fiscal measures (e-ga
cutting taxes). This phase is marked by a rapid rate of economic growth due to government policies slgc |
as easing of credit restrictions to encourage expansion of production and a ‘reduct‘lo_n in cyc ;cnad
unemployment. During this phase of the trade cycle, prices will rise, total transactions will increase

the national income will rise as well. Recovery may develop into a boom.
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UNIT 2 Syllabus 2016 — 18
T a. Money

_ functions and characteristics ina
modern economy

_ barter, cash and bank deposits,
_checks, near money, liquidity

b.lnﬂauon

Money and
inflation o £

_  deflation and disinflation

- measurement of inflation-

_ “the causes of inflation (cost-push and
. -demand-pull inflation) P
- .the consequences of inflation

AS Level
Macroeconomics
Notes Book 2
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Cell: 0300-44-10-900
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Unit2 Money and Inflation

Money

Money is anything that is generally acceptable as a means of payment. Normally, this js cash

of ooir);s andYtnoles but the definition also includes bank deposits (which can be accessed ;ncthe forr,
debit cards and credit cards). However, money can also be in the form of g valuable commoity sﬁgﬁ“’?"
gold, platinum or oil. as

History of specialization, trade, and money

1. Self-sufficiency:

In the very beginning of human civilization history, people used to relay on natural sources for fooq and
shelter, etc. There were only hunter-gatherer societies and everyone was self-sufficient ang therefore
there was no specialization and trade. -

2. Barter trade:

When human beings invented agriculture, they settled at certain places and learned Specialization
Specialization resulted in production of surplus goods (in quantities greater than one needed). Surpluses'
then were to be exchanged or traded and required certain mechanism for that. Initially people relieq on
barter trade (the exchange of goods for goods or swapping).

- Double coincidence of wants: means both parties in a transaction actuall
services that the other wants. The need to buy and sell the same time and
creates problems. This is very cumbersome and time-consuming process. :

- Exchange rate: The exchange rate is arbitrarily determined In terms of units of account. There is no
standard value to follow.

- Divisibility: Some goods cannot be divided into smaller units as this would destroy that particular
good, e.g., part of a buffalo or half of a fruit
— Perishables: Some goods are easily perishable, spoilt or will deteriorate, like fruit, vegetables, fish

and eggs. In the cumbersome process of looking for the right buyer and seller to exchange the good,
the good to be exchanged may have perished.

— Portability: The problem of having to carry those goods to find the r
always rise, e.g., bulky goods such as bags of rice and firewood.

y have the goods or
at the agreed amount

ight buyer to do transaction will

Due to the difficulties faced with barter trade', man developed a new medium of exchange: Money.
3. Commodity money

A wide variety of commodities have served as mone

y at one time or another. Commodities used ir@ude
shells, cattle, tea, sheep, tobacco, etc,

| CAO
- O
4. Metallic money o) 00

N
Among the metals used were iron, tin, copper, silver, and gold. However, most metals WQ’{%'&scarce to
serve the functions of a good medium of exchange.

S. Paper money e ®
It has its origins in the receipts issued by goldsmiths to customers who depg&&'@tﬂéir money and other

valuables to them for safe keeping. The receipts were issued in smaller de ations. This gave rise to

bank notes. Today, we use paper money, e.g., dollar. Paper money is tf@ p@‘&ominant form of money in
less developed economies. S
o

o
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¢. Bank money

it refers to bank deposits, which are transferable using cheques, debit cards, credit cards or electronic
wansfers. Bank deposits are considered as money but not cheques, cards or electronic transfers. They
are merely orders from the owner to the banker to transfer his or her money to someone else.

Developed qountries are cashless societies and they have greater proportion of their money in the form of
pank deposits.

concepts

intrinsic value: means a commodity, though serves as medium of exchange, still it has its own value.

cgmmoditigs and metals were demanded for their own sake because of their intrinsic value, unlike paper
money, which only serves the function of money.

Leg‘al‘ tender: notes and coins issued by the central bank must be accepted as the medium of exchange
(as it is regulated by law). Itis an offense to refuse to accept legal tender.

Liquidity is the extent to which there is an adequate supply of assets that can be turned into cash.

Near money: it is quite liquid but not totally liquid, i.e., non-cash assets that can be quickly turned into
cash.
This would include foreign currencies, credit cards, traveler's cheques, fixed deposits, saving deposits,

treasury bills, bonds etc. The public is not obliged to accept them. Near money can be converted easily
into cash because it is fairly liquid.

Treasury Bills: they are short-term loans to the government (lasting for usually 90 days).Treasury bills

can be taken to discount houses to be used as money. It is rather liquid because. it can be easily
converted into cash.

Bills of exchange: these are the bills drawn up by the creditor and presented to the debtor. It is quite
liquid because it can be converted into cash easily (on payment).

Features of money

Here, we will consider what attributes, or characteristics, an asset should have to function as money and
how these attributes facilitate trade and resolves the problems of barter trade.

1. Scarcity: The scarcity or limited supply of money helps to maintain its value and perform the basic
function of money, i.e., actas a medium of exchange.

2. Acceptability: Money is generally acceptable legal tender (acceptability is enforced by law) and,
therefore, resolves the problem of lack of general acceptability in barter trade. &

3. Divisibility: Large and bulky goods may be difficult to divide, making it difficult to trade 3ARith
different values (e.g., part of a buffalo or half of a fruit)—therefore, reducing the volume a?)??d@ and
level of specialization. Money has different values in denomination and, therefore, mabé?it\‘e\asier to -
buy and sell goods and services of different values. o N

4. Durability: In barter trade some goods like fruits are perishable and hard to store. ey\, on the
other hand, is durable and can easily be stored. This is a problem which may af@ er money and
o a lesser extent coins. The chief form of money in a modern society, which igpank’deposits, suffers
no physical depreciation whatsoever as it exists only as numbers on a p or diyits in a computer.

5. Portability: Commodity money and even coins suffer from the disadu%gt‘.aggC\hat may be difficult to

transport. A modern bank deposit, however, ma be transferred O
another. P y Wf\&@ ically from one place to

Uniformity: Every unit of a product is not necessarily the sa
creates a problem in trade when goods are traded in bukdi barter economy. Money, being

hon;ogeneous, allows the assigning of different prices for Qi rent sizes and qualities of the same
product, eliminating the problem that this creates in barter, thereby stimulating trade.

ize and quality, and, therefore,
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. Id retain its value. In the 4
. desirable that money should TEE past thiy
7. Stability of Value: It 18 mgv':{u: to something which was In re]atuvely stable supply, such as g,
" achieved by tyind monet%rzs defects of modern money that it may be affected by inflation . '
s one of the meS Se . in 2008, for example, made its currency worthless.
Zimbabwe 6ciety uses money which has only exchange value and not iy ..

terfot: O for fraud and counterfeit be kept to a minimum.

Coun e
g. Difficulto = hial that possibilty

' value, itis essentia

Functions of money:
be summarized in the following rhyme:

There are four major functions of money which can

Money is @ function of four
A megium. ameasure, deferred, and a store

1. Medium of Exchange:
- Primary function
- Money splits a sing
in time and place,
coincidence of wants” m
the other is offering for sa
- When money acts as a me
a good deal of economic in
competition and widening t
As a medium of exchange,
specialization and division o
In the last analysis money facilitates trade.
or a service to be traded indirectly for others. _
The essential characteristic for anything to act as a medium of exchange is scarcity. Not
anything, which is not scarce, can act as money.

rter into separate transactions of sale and purchase, both
he need for a double coincidence of wants. “Double
ived in the transaction must want to buy what
by making it easier to exchange.

ns that it is generally acceptable and gives us
rfects the market mechanism by increasing

le transaction of ba
thus, it eliminates t
eans that both parties invo
le. Money facilitates trade
dium of exchange, it mea
dependence and also pe

he market. o
money acts as intermediary. It helps production indirectly through

f labor which, in turn, increase efficiency and output.
When acting as the intermediary, it helps one good

2. Measure of Value or unit of account:

— In barter trade there may be hundreds of values for a product. Every time goods are exchanged
with different products, people need to negotiate a new rate of exchange, and this makes trade
extremely difficult and slow. The use of money as a standard of value eliminates the necessity of

f oranges in terms of nuts, and so on.

quoting price of apples in terms of oranges, the price 0
Money expresses the value of each good or service in terms of price; therefore, the problem of

“no exact value of a product” in barter trade is solved.
In barter trade there is no single agreed unit of account to recor
profits and losses; therefore, it is hard to determine the re
businesses. Money as a unit of value also facilitates accounting. Assets o
of all kinds, income of all kinds and expenses of all kinds can be stated in terms of comgn
monetary units to be added or subtracted. The unit of accounts function helps to run bsiREss
activity more smoothly. % @R
Money as a unit of account helps in calculation of economic importance '@.\mgs the
estimation of the costs, and revenues of the business firms, the relative costs rofitability of
a{a' al product.
O’b

d sales, expenses, or to compute

lative profitability of different
f all kinds, liabilities
on

various public enterprises and projects under a planned economy, and the gro

3. sw;ddf;d :t: deferred payments (credit payments): Q ®
- ebts are taken and repaid in money, as, in the ab inflati i i

! , as, sence eater

ﬁert.am?;~ of value compared to other forms of assets. f mﬂatn%ﬁ»odpey provides &
nofl'-l::n:( |;zal:;gllqg tqtnq borrowing transactions for firms,Qus b%eé}nen, banks, andother
non-bank financial gt‘tT e’ udt;obr:s. aOn the other hand, it will beykitethely difficult to make credit
baeactons and set debtors.p yments as there will be Qmon basis for settling debts
- Howey i ’
the del

$
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;3eiv3ﬁ§:?err:2'assgrifeﬁcu%y' some of the countries have fixed debt contracts in terms of a price
future payment of debs; gyacfz)sﬁselg tf:g vaLue of money. Such contract overtime guarantees the
when the contract was entered E)motsa ing the loser by the same amount of the purchasing power
4. Store of value/wealth:
~ ;g’:?;:teh fr:tifgsbthi sltgpk of assets that one possesses at a point in time. One can store the value
g00ds y holding bonds, shares, furniture, houses, land, or any other kind of valuable
- gnsorrfgdlii ;lsgfaeit%re of wealth and has the advantages of liquidity (ease for being ready to use
isadvaritages fC aqge) and no storage cost over the other forms of store of wealth, but a
. reciatiog OI no Income gene_rated (e.g., interest, dividend or rents) and less chances of
in%?a oo n (only if there is deflation). Money rather depreciates in its value in the periods of
Theske gmctions qf money are viFaI for the smooth operation of all economies. If any of the functions
breaks down—as in the case of Zimbabwe, where money lost all meaning as a store of value or wealth—
economic co[lgpsg is the inevitable outcome. It is therefore essential that a prudent government puts
economic policies in place to ensure that this does not happen

Inflation

Inflation means a sustained increase in an economy’s price level.
Inflation does not mean:

- price of a particular product is rising
— every product's price is rising
- all products prices are rising at the same rate

Degrees of inflation

Creeping inflation:
A low and stable rate, of for instance 2%, is generally r
and steady rise in prices may encouragé firms to pro

known as creeping inflation.

egarded not to be a problem. Indeed, seeing a low
duce more. Such a rate of inflation is sometimes

Hyperinflation:
Hyperinflation is an extreme form of inflation in

ayear.

which price level rises by, 100s, 1000s and million times in

Effects of hyperinflation: :
- Money value falls so rapidly that money loses its function of medium of exchange, and gegle
4)

start preferring barter as a system of exchange O
_  Other currencies might be used instead of domestic currency M 0@
- Economy may collapse . OO'\'\Q
\\ N
Example: N Q7
At the start of the twenty-first century, Zimbabwe experienced an inflati@ atg’ so high that

ng it. It has been estimated that it r@e@d A 2008 anywhere

9 sextrillion per cent. i\ (§

A . :

Zimbabwe'’s descent into economic catastrophe was a long, drawpsoutlaffair. Following a drop in
agricultural production after controversial land seizures, expo w{gjg\and foreign investors went
elsewhere. The government sought to solve its liquidity proble orrowing from foreign banks,
knowing that it could not meet its loan repayments. The g%@rgment made the situation worse by
printing more ool of Lhich A ed to D3 S Solice, and civil servants. Eventually,
ence in the

inflation rea

economists had difficulty measuri
between 200 million per cent and 8
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untry's decision In 2000 1o g, |
U8 dollar tor all transactiop,

an ouar.“:\gor%
outh Affic2 of Infla
° price ot Deflation &
e Acce™.

Negative l

T |

inflation

//r ble/constant / : B
te of Infiatio i’f_a_//’ : )
e T | | _ROI__ | PL_ | _ROI_| P
vel (PL) 1 - : (
A 100
| PL o
rol | PL RO 100 "’;"""1’1'5'"1707%’ T
- : -+
:gg 2% 102 10 %
2%

2% 104.04 5% 107.1

/
L ———T 7o | .81

| o incre
//l’g’;s rate of inflation is positive, Price level in
As lon |

i ed. ion i t or falling.
falling. ) e level stays unchanged - aotion is constan :
When inflation rate IS 281, ":;icfel price level falls even if rgtefoft'"ZZr and highest on last year.
When rate of lnﬂat_'og Itsior;eii posi'tive, price level i_s lo_west in firs erar nd lowest in last.
A ra:: g; ::ﬂztion is negative price level is hi
As long asrd

Example:

— 188 | 5% | 050

8% T 20% | 664

even if rate of inflation is constant o

ghest in first

Rate of inflation (%)
N

;\OQ
12% O
. b
8% & gz} 6‘6
(]
stable inflation 6%.
4%t >
< i —
o 0 1 2 3 4 5 6 T7i\8& g§ 10} 1 Year
i H
-4%+ ; i i
o 3 s i A
' . '\0 6_)
12%+ p N \l OO
° Deflation O A

In which year was the price level at its highest?

In which year was the rate of inflation at its highest?

In which year was the price level at its lowest?

In which year was the rate of inflation at its lowest? (ignoring sign)

In which year did the price level fall for b
In which year di
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Unit 2

measurement of Inflation / Value of Money / Cost of Living

consumer price index (CPI) is an index that shows the average change in the prices of a representative
pasket of products purchased by households,

Cost of living means how much it costs to live in a country.

A country's price level indicates how much it costs to live in that country. A rise in the price level means
that the cost of living has increased. To assess changes in the cost of living, governments construct
consumer price indices. There are a number of stages in doing this:

1. Selecting a base year and current year:
— Current year is the one whose rate of inflation is to be measured.
— Base year is the standard year with which rest of years prices are compared.
— A normal economic year in which there are no political or economic balances should be taken as
Base Year. Price level in base year is represented by 100.

2. Selection of basket of goods and services:

_ To show the changes in general price level, it is simply impossible to record and calculate the
pricetchanges of all the goods and services (which are even more than millions) produced in @
country.

_  Therefore, by using the statistical technique of sampling almost a basket of 300 to 600 goods and
services should be selected for indication in changes in general price level.

_  Goods and services that an average family uses like fuel, clothing, food etc should be included
in the selected basket of goods and services. Those goods and services which are used by a
very limited group of people will not be taken in the selected basket of goods and services.

3. Collection of price data:

Statistical department of government collects information about the prices in base year as well as current
year. This information about prices of selected basket of goods is collected from retail outlets, news
papers, price lists and co-operative society's offices etc.

4. Calculating index:
Index (or price relatives) is calculated by:

Current Year Price
x 100

Index = -
Base Year Price

5. Assigning weights:
Consumers spend much more of their incomes on certain goods and services and these should be given
greater importance in the index. For instance, if on average households spend $500 of their total
expenditure of $2,000 on food, the category will be given a weight of 'A or 25%. Commodities should be
given a weight which reflects their relative importance in the consumer spending.

@
, A0
Weight = Expenditure on t.he good 100 \.'\006\
Total Expenditure 0 )
6. Calculating weighted index: v\O N
Weights are multiplied by indexes to calculate weighted indexes. \o\ N’
Weighted Index = Index x Weight O qu’
7.cPI ¢4 i~
CPI is obtained by taking sum of all weighted indexes and dividing it by total wei\gﬁ%g
o)
Total Weighted Index &0\,@'
CPI = : &
Total Weights %(\$
8. Rate of inflation oS

Rate of inflation is calculated by taking percentage change in ¢ t9ear average prices (i.e., RPI of
current year) to the base year average prices (i.e., RPI of base @a '
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Cplz—cpll % 100

Rate of inflation = =5
= CPI of the base year ' '
= Pl of current yyeeaa;?s?:h?f:;'; 130. so we can write rate of inflation as:

ch CPl of base
Rate of inflation = CPlz2 - CPly

Asmknowmt

www.voutube.cgm/megalecture Money

s, ie., A BandC. Their base year pieces ...

Example:
goods are categ
v In 2001, they changed $6, $11,

Suppose _
osfgilissi $3000 onZ;)oas B and $3000 on C. Calculat

e rate of inflation.

. into 3 broad group o
orized into J $7. Average families in the country spend 3.

Base Current | o ondit . ;
penditure Weighte

Product year | Year on goods ghted Indey
Prices  Prices , B/5 x 100 |
A $5 $6 $4000 4000/10000 x 100 = 40 =120 40 x120 = 480 |
100=30 | 110X | 30x110=330
B $10 $11 $3000 3000/10000 x = 100 = 110 = 3300 |
4/5 = 100 o
c $5 4 $3000 3000/10000 x 100 = 30 - 80 30 x 80 =2400
TOTAL = $10000 =100 = 10;,@

CP! of Current year = 10500/100 =105
Rate of inflation = CPl2 — CPl; =105 — 100 = §% (ANS)

Problems of constructing Consumer Price Index (limitations of the Price Index)

1.

Selection of base year: The questions that arise are: “Normal to what extent?” “No inflation, no
defiation, no high unemployment, no political instability?” “What is an ideal year?” It is not easy to

decide. Hence, it is not an arbitrary selection.

Selection of basket of goods: Again, this depends on what is essential and what is not. Often the
goods selected are normally reflective of a certain class, and hence they are not representative of the
whole population. The views of upper class and the lower class will be different. Even within the same

class, there are still differences in perception.

Prices of the selected goods: Prices fluctuate from day to day. The rage may be very wide, for
example, $5 to $50. We will then have difficulty in determining the average price. Moreover, for some
commodities, such as rice, there is a question of which grade to choose. Again, selection is arbitrary.

2
Weights: The relative importance of the goods, i.e., the proportion of income spent on ,tgg{\ di
ses,

Different people have different scales of preference. Moreover, when a person’s incom

the pro'p‘or’don spent on different goods will change; more may be spent on entertai t-than on

necessities. ‘ A N
R4 -

‘@p igx changes. It is

hat*

ould be obtained

g{@ .
Q .oﬂese sampling errors
&
Inaccurate Information: People who give information do not alw3ys géport accurately. The statistics
bureau makes every effort to keep these errors to a minimum, @?@@rrects them whenever they aré
4

subsequently discovered. )

Sampling Errors: The consumer price index is not an exact measurement
subject to sampling errors which cause it to deviate somewhat from the res
if actual records of all retail purchases could be used to complete the i

are unavoidable. They could be reduced by using much larger sample&#
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. Comparison overtime: It s difficull 1o com

pare pricas overtime, We cannot prepare the 2016

consumer price index
Wwith the 1980 consumar price indox, e, between long period of times

Decaune

New products may have entered the markets

Necessitl 3
en may have changod and (mass rapld transit)

Fashion and tastes may have changed
Spending habits may have changed
Quality may have improvoed

Income changos

s, Comparison betw : .
¥ oen countrles: It is even more difficult to compare consumer price index of one

county with another becauso of:
Base year differencos
Difterences in basket of goods
Prices of selected goods‘diffor
Differences in weightage

Conclusion

A price index is & mere approximation. Human error in compiling, recording and analyzing data c

an never

be totally absent. However, despite these limitations, it is still the best yardstick available to measure

changes in the general price level and the value of money.

The causes of Inflation

There are two causes of inflation:
- Demand-pull Inflation
- Cost-push Inflation

Demand-pull Inflation

Meaning:

If there is too much demand in the economy relative to
the supply of goods and services, prices will rise and this
type of inflation is known as demand-pull inflation.

Cost-push Inflation

Meaning:

Cost-push inflation describes a situation
where the process of rising prices is
initiated and sustained by rising costs
which push the prices up.

Explanation:
Demand-pull inflation can occur when:
—  Economy is below full employment
- Economy is already at full employment

When the economy is initially operating below full
employment, increase in AD will lead to increased prices
as well as real GDP. It can be shown by the following

figure:

MEG

Explanation:
If cost of production rises (say trade union

demands for higher wages), fall in fit

margin of producers will lead to f /é%
from ASo to AS: as shown in{ re

below. Price level will rise fr
and note that GDP will also'\

Yi.
Q\) O‘bq’

. , ©
Higher costs will m@%@e producers to cut
short their pr ion resulting into co-

“to Pq,
m Yo to

existence ?é g\m loyment with inflation.
This situatién 48" known as stagflation or
slumpfl
<
N Y &
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AD,
Y, Y Y, Yo Yr Real GDP

ate demand curve intersects the aggregage
or to output rate Y1, then any increase in
lead to a rise in the price level, Thus 2
leaves the price level unaltered at
wever, will cause the price
t rate Yz, any Increuse in
er price level since, by
t no more output is

If the aggreg
supply curve pri
demand will not
shift from ADo to AD1
Po. A shift from AD1 to ADz, ho
level to increase Py, After outpu
demand will simply result in a high
definition, at full capacity outpu

physically possible.

A rise in aggregate demand will have a greater impact on
the price level, the closer the economy comes to full

capacity.

Determinants:
Excessive demand in the economy may be due to:

1. Too much consumer spending (because of
excessive Income, lower Interest, more credit
availability, more wealth, expected increase In future
incomes and prices etc.)

2. Too much capital Investment (because of lower
interest rate, business optimism, better technology,
political and soclal stability, government investment

friendly policies etc)

3. Too. much government spending on merit goods,
public goods Iinfrastructure etc and reduced taxation
(Expansionary fiscal measures or budget deficit)

S
GDP
Determinants:
This may be due to increases in:
become

1. Raw-materials may

expensive if there is a shortage of rzw-

materials

Wages may rise because of powerful

trade unions

3, Government may impose high taxes to
cover its budget deficit. An increase in
indirect taxation (i.e., tax on goods and
services) is another way of giving the
general price level on inflationary
‘push’. Increase in sales tax, VAT efc
will raise the cost of production and fall |
in AS, consequently a rise in general |
price level.

4, International prices of oil e

may &
which is the key input for all ingysries.
Inflation caused by rising i qpfices

is sometimes referred_ ﬁ ported

inflation. Prices of RO ed raw

materials and oil m?ﬂ? rise due to

depreciation in t %Ohange rate.
Rgenang

&@g

; $ .
However most\oT.the economists argue

that main cayse @ cost-push inflation is an
increase %Cost (i.e., wages). Wages
are lar, ngle element in total cost
Wi fiés rise faster than productivity
er unit of input) labor costf \le'l,'

a

incredse and so will prices because 0

MEG
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4. Sudden increase in demand
r for exports and fall in [ in AS
ggr;:::ggcfor Imports (e.g., because of fall in valtiil :)r} nAS W
dom gu.rrency,. changes in quality, tastes and
] ashion and international economic activities etc)

5 Monetarists argue_ that the key cause of higher
aggregate demand is increases in the money suppl
They suggest that if the money supply grows t%%rye

rapidly than output, the greate .
drive up the price level. greaier supply of money will

Effects:
Effects:

Demand-pull inflati ' : :

unemployﬁ)nent becat:;g eXICSe é(ljssoclateq with  low | A decrease in aggregate supply caused by

0 nareased product ss demand in the economy | higher costs of production pushes up the
lon and employment. There is | price level, causes a contraction in

a tradeoff Dbetw e
unemployment. een demand-pull inflation and | aggregate demand and reduces real GDP.

Wage-price spiral
e, which causes prices to

Higher wages can cause a wage-price spiral. Workers gain a wage ris
It can be

increase, causing workers to seek higher wages to restore their real value, and so on.
explained as follows:

When prices rise, people find that their real incomes are falling and thus, they will demand higher

wages.
If wages may increase more than labor productivity an
goods and services they produce would increase (cost-push inflation)

With higher wages they have more spending power, SO demand increases and demand-pull inflation

. occeurs.
_  Other groups will demand higher wages because they see prices rising and this will cau

to re-instigate itself and known as wage price spiral.
Everyone becomes accustomed to living with inflation an

d so result in a rise in labor costs, the price of

se the cycle
d become anxious to maintain their standard

of living.

— Eventually, prices and incomes may become indexed:; every time prices rise by 10%, incomes, rents,
pensions and so on would rise by 10%.

—  This could turn into hyperinflation (if it gets out of control) and the economy would collapse as people

lose confidence in their domestic currency. _ .
Once inflation is underway, it is difficult to determine its cause. For instance, wages and consumer
t it may be hard to tell which occurred first and so whether inflation is

expenditure may be increasing bu
the result of demand-pull or cost-push factors. %
. o(\/\o
The consequences of Inflation o’é'\oob
Costs: MR
Yo
s&bme groups of

ntly. When price rises or the value of mone

Inflation affects different people differe ue of
tand in between. The effects of inflation ’;{'@e Lon:

the society gain, some lose and some S
e (N S
—  The rate at which it is rising &( e’p
_ Whether the rate is accelerating or stable ¢ 43({\

_  Whether the rate is the oné which had been expected b b{\
_  How the rate compares with that in other countries & &@

e\ 4
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income:
tribution of
4. Effectson the dis < onthe e distribution of income and wealth. There are many ns
inflation's MAjor &t ‘ .
One Ic;f which suffer due to mﬂation- ors 1086, Although they will receive the same amount of mor
peo‘l)firstly ue to rising Prices: ore they will receive less as the value of money has fallen. 9y
- 1 rms’ . n ‘
which they fent but Surc?\a:: clerks, teachers and other whutle. collar people also lose when t¢, is
ns : ing.
- &"aﬁ&d p:h'::: salaries are slow to adjust when pricgs are rf st eg Income groups. Such
inlaton & hich is negatively affected by inflation IS TEXE= T t P “N People g
~  Another group W s, social security, interest and rent on fixed incomes €IC. Fensioners recg;,
reciients Of PEU° t‘rclass gets fixed payments of interest and rent. These persons lose in perigqs
y ow will be less in real terms as value of money fajls j,

2.

Inflation has adverse affects on production.

3.

fixed pension and ren
of inflation as the income t

infitor nd. businessmen, industrialists,

On the other ha naus A
ith variable i ain during rising prices o
others ith variabie o ate gt the expense of households who are its principal creditors,

nt as a debtor gains @ . '

m ?: v;ergamuze interest rates on the government bonds' are fixed and are not raised to Offset

ex;|>ected rise in prices and real interest falls. Also it is easier to pay back debt to general public as
ev has less real value. |

?::reycan be a transfer of income from private sector to the g(_>ver?m_entth th:ough fnscatl éjrgg and

al drag, those individuals who were previously in the tax exempted bracket

bracket creep. In a fisc g Bl e o ot nciden,

: N oot |
would be dragged into tax brackets during times of mflatlop. . |
who were previously in lower tax bracket would creep to higher tax brackets due Fo an increase in
their nominal incomes in the period of inflation. It can be argued, however, that this is a cost of an

inefficient tax system rather than a cost of inflation.

hey will receive N

Effects on production:

Firstly, there is misallocation of resources. Producers may divert resources from the production of
essential items to non-essential items to expect higher profits. There may be reduction in
production as expectation of rising prices alongside rising costs if inputs bring uncertainty.

There will be hoarding and black marketing. Producers will create artificial shortages in the market
by hoarding up stocks of commodities and consequently sell their products in the black market, which
gives rise to inflationary pressures.
Unanticipated inflation can create uncertainty and so make it more difficult for firms to plan ahead.
This may dissuade firms from investing, which will have an adverse effect on economic growth.
Inflation also reduces foreign investment because of rising costs of materials and other inputs.
Menu costs are ghe costs involved in changing prices. For example, catalogues, price tags, bar
codes and advertisements have to be changed. This involves staff time and is unpopular with
customers. However, it is viewed as a small cost to the society.

Shoe leather costs are the costs involved in moving money from one financial institution to a’ﬁp{ﬁer

in search of the highest rate of interest. )
Q
External Eff | \ 00;\'\0
xterna ects (on exchange rate and balance of payments): \o\\ N’
Ay

Inflation affects adversely on the balance of i
_ _ . payments. When prices rise in nin
ifr?gregns eci?::érr;is.an%og\gjgg ePrOdrlthts;hbecome more costly tsan foreig g;o é%? %oht:g trt);g;i to
_ ' e exports, thus having an unfavorable balanc rkf‘pg}‘ﬁh :
When prices rise more rapidly in the home country than in foreign counégs@it Iov::rt:.the exchange
\)

rate in relation to foreign currencies. ‘0 \S
Inflationary noise or money illusion: b &\\‘\
oG

This arises when inflation causes ¢
N onsumers and firm eggh' : ; i
make it diff i ) fuse an
icult to assess what is happening to relative prices.A rise in thzr:;iz; ::g r;a;f6(;32? tm'oz::)’ f‘Ot
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NN
Yo, " .an that it has t : .

U mean as become more expensive relative to other products. Indeed, the product may have

' Yo risen in P'\'C‘? by less than infiation and so may have become relatively cheaper. Inflationary noise car

b result in consumers and firms making the wrong decisions. For example, firms seeing the price of

& "‘h.
' ¥ thetr prog(:’cts nsing may increase output when the higher price is the result of inflation rather thian
increased demand for their products. This may result in a misallocation of resources.

A &u
U
N
U@OQS/?"'S’«?: 5. Inflation causing inflation:
Qf’h:ﬂ’} Inflation may generate further inflation as consumers, workers and firms will come to expect prices 1o
3 M & rise. As a result, they may act in a way that will cause inflation. For example, workers may press X
D@c R higher wages, firms may raise prices to cover expected higher costs and consumers may seek 10
%t purchase produgts now be'fore‘ their prices rise further. If prices start to rise at an abnormal 3
)rif)c,' b creating a hyperinflation situation, then there is fear of an eventual collapse of the monetary system
ae i . -
»:a’y\@{ % 6. Effects of inflation on functions of money:
SNa VN i i
-7;\: L, Inflation affects the functions of money in a number of ways.
: —If tr?e_lnﬂatlon rate is slow, that is there is mild or creeping inflation (1 % to 3%)and tis a';s.;
o anticipated (expected), then only the store of wealth function of money will be weakened. 1t
My, woplq not be beneficial for the people to save in terms of money .As the inflation rate is slow anc
N R anticipated, there would not be a greater instability in value of money and it will continue 10 be
T used as a standard of deferred of payments. People will continue to record their transactions M
N the same currency and will keep on using current money as medium of exchange.
: y as a store of

- If inflation rate of the country is high and unanticipated, the function of mone
y as a standard of

wealth will be weakened once again. Apart from this, the function of mone
lue of money woulkd

deferred payment will also be weakened. With high and unanticipated, the va
fall and the lenders would suffer. Thus, they would be discouraged to make transactions related

to deferred payments.

—  Ifthe inflation rate of a country is extremely high, that is more than 100% and the country S facing

hyperinflation, then all the four functions of monay will be lost. The internal value of Currendy

L would fall at a great extent and this would deteriorate its function as a measure of value and

medium of exchange. There would be no stability In its value and it would be stopped using as a

.., standard of deferred payments. It would also not be used as a store of wealth. Thus the manatan
T systems would collapse and the economy might revert to barter trade or use foraign CUTaneRS,

Thus, the inflation affects the functions of money In a negative way but its detenoration will depand on
Z the rate of inflation and its anticipations.

7. Political and soclal offects:

7 Inflation is also soclally harmful,
Riging prices also encourage agllalions and protests by political partiea’ opposad W the

government, 2
With increase In disparity between righ and poor due o 1iaing prves, there Q\@\\Q\?\n
N N\

discontontment among the mattes, N
With rising costs of living, workers resort (0 atriken Whioh lead to lora (n |\n\\\iu\‘u\\,\u\4f’,\\\
N

Corruption spreads In every walk of life. O }\
) \ “\
' N
Homser, it would be unjustified (o say (hal Inflation only haa hegative nupﬂn\t\\}\wv AR e

cmditions which prove that Inflation Is nol always had,
S
\
Benefits \\\‘\\\s
@
Trs prAnntial bonefits include. { w‘.\\\'
W

1. Stimulating output: A low and setable llallon (ale Gatse \l‘?‘ (AN aliig (g Ay e B
fosst pinnistic, mbout the future, I addilion, I prices (lee b n\nu LAY i i WAL veaes,

I I ot b fands Tor investinent

om/m
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Reduce the burden of debt; During the petiod of inflation, real Intarant ratos may fa)) of m
decvme negative This is because n‘\\!l\ll\d' interest rates do hot tend to rise in line with m"“"‘m WQn
result dedt burdens may fall. For example, those who have borrowad monaey 1o buy a houseg o 2
expenence a fall in theit mortgage payments in real terma. Likewlse, a country's hatlong "y
repayments are reduced in real tetms. A reduction in the debt burden may stimulgte son de
expenditure that, in turn, could lead to higher output and employment T Umey

Prevent some unemployment: Firms in difficultios may have to raduce thair costs 1o SUrvive
many firms, wages form a significant proportion of their total costs, With zato Inflation, firmg May h

to cut their labor force. However, inflation would enabla them to reduca the real costs of |.b,"°‘"
either keeping nominal (money) wagoes constant or by not raising them In line with inflation, Durg
inflation, workers with strong bargaining power ara more likely to ba able to resist cuts in their rgy
wages than workers who lack bargaining power.

g,o

4. Another group of people which gains from inflation are businessmen of all types, such ag Producer
traders, etc. When prices rise, the value of producers' stocks will increase In the same Proponion Co
they will profit more when they sell stored commodities.

5. Further, inflation is not as bad as doeflation is, |.e., opposite to Inflation,

Factors affecting the consequences of Inflation:

The effects of inflation depend on;
— its rate whether the rate is accelerating or stable
— whether the rate is the one that has been expected
- how the rate compares with that of other countries.

1. The cause of inflation: Demand-pull inflation is likely to be less harmful than cost-push inflation, Thig
is because demand-pull inflation is associated with rising output whereas cost-push inflation jg
associated with falling output.

2. The rate of inflation: A high rate of inflation is likely to cause more damage than a low rate
especially if the high rate develops into hyperinflation. Indeed, hyperinflation can lead to households
and firms losing faith in the currency and may bring down a government,

3. Stable or accelerating rate of inflation: An accelerating inflation rate, and indeed even a fluctuating
inflation rate, will cause uncertainty and may discourage firms from undertaking investment. They
need to devote more time and effort to establishing future inflation will increase costs.

4. Anticipated or unanticipated inflation: Unanticipated inflation, which occurs when the infiati
was different from that expected, can also create uncertainty and so can discourage 8o
expenditure and investment. In contrast, if households, firms and the government h octly |
anticipated inflation, they can take measures to adapt to it and so avoid some of its én
effects. For instance, firms may have adjusted their prices, nominal interest r ‘have been
changed to maintain real interest rates and the government may have adjus kets, raised
pensions and public sector wages in line with inflation. IQ ®

@ :

5. Relative inflation rate to trading partners: It is possible for a country "}?'av@a relatively high 2l

of inflation but if it is below that of rival trading partners, its products 3&8&% more i
competitive. %

&
&
Anticipated and unanticipated inflation and indexation b 3

ol
Anticipated—expected rate of inflation s
Unanticij ww.youtube.com/megalecture
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TN sated assets—whose real value does not change with inflation,

W RAON i enanticeipated; households, firms and government are uncertain what the rate of rifiation
i ne 1 Rtune \When planning, they therefore have lo estimate as best they can the erpected iz
Laanyt LS UniRel that they will quess correctly and hence their plans will be to some ertent frustraie

O e other nand. inflation may be anticipated. Inflation may be a constant 5% per year ant therefore
Lousehokds, fims and government are able to build in this figure to their plans.

7
o
-

L smooated nfiation imposes far greater costs than anticipated inflation. If inflation is anticipzied,
sconome agents can take steps to mitigate the effects of inflation. One way of doing this is through
~dexation. This is where economic variables like wages or taxes are increased in line with infiation. For
~ss3~ce. a union might negotiate a wage agreement with an employer for staged increases over 2 )"?a'?f
. ~us the change in the Consumer Price Index. The annual changes in social security benefits in e

-

~= inked to the Consumer Price Index.

L]

-

G vy

~

~

cconomists are divided about whether indexation provides a solution to the problem of inflation. One the
-~ hand, it reduces many of the costs of inflation although some costs such as shoe leather costs
2~3 menu costs remain. On the other hand, it reduces the pressure on government to tackle the problem
_: ~3ation directly. Indexation eases the pain of inflation but is not a cure for it.

\ioreover, indexation may hinder government attempts to reduce inflation because indexation builds in
cost structures, such as wage increases, which reflect past changes in prices. If a government wgnts _tO
=+ infation down to 2% a year, and inflation has just been 10%, it will not be helped in achieving s
:zrget if workers are all awarded at least 10% wage increases because of indexation agreement.

[{®]

v

Why it is important to have accurate statistics of inflation?

1. Inflation is a central economic target. If the statistics are inaccurate the direction and level of action
(macroeconomic policy) may be inappropriate and may worsen the position.

2. Inflation figures are a means by which the success of current policy can be judged. Inaccurate
figures of inflation may understate or overstate the success of government macroeconomic policy.

3. Lack of trust of the statistics may undermine the acceptance of policies and their effectiveness.
Trade unions and firms may anticipate more than actual inflation, which my build wage-price spiral.

4. It is used to assess the effects on the distribution of income of the people in the country. Certain
group of people will gain with rising prices at the expense of others. Among those who will gain with
rising prices are the businessmen and the shareholders. Those who do not benefit are pensioners,
salaried individuals and the bondholders. With such effect, the gap between the rich and the poor will
pe widened and the government should take positive steps to reduce such income inequality.
However, inaccurate statistics will make it difficult for government to define appropriate cost of living

allowance. ' '90

5. Itis a basses for future contracts between creditors and debtors. With rising prices, the.«ﬁ&\ will
gain (i.e., they are losing less purchasing power). Hence, it should be maintained that e‘g’é itors
are repaid with at least the same purchasing power, in terms of real income. To co sate for the
loss in real income, the debtors are charged an interest, which includes inflatigavtompensation.
However, inaccurate inflation statistics will make either of the group losers. A

6. With rising cost of living, the consumers’ real income will fall. When the genera‘%c' Slevel increases
real income will decrease. The trade unions must step in to demand for mo n@t income o as to
offset the increase in general price level. Accurate inflation statistics wil l'q‘e néeded for that purpose
otherwise trade unions may end up with either too high or too low demé“;l\d\sﬁbr the wage increase

7. Errors may be made in planning and real values may not be maintair@d. Q) '

8. There will be a fall in business confidence resulting into fall in inve:s)%éﬁt_
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Detiation o8 DE

Good deflation

esult of an

" s Oefiation OCOXS 2% 3 165U
| erease 0 3pgregate swpply. Figure below
ivmwmmnmfegafewww '
i,wmgnaialnmepriceleve!andanse
;me:'GDP
| Price Level

A

P,

P,

0 Y, Y, Real GDP
Effects:

Advances in technology, for instance, may
create new methods of production and lower
costs of production. As well as output
increasing, employment may rise and the
international competitiveness of the country’s
products may increase.

good defiation and bad deflation depending upon the cause of deflation

consequences of deflation

n the price level Deflation involves a n_egatiye inflation rate
Oetation # 3 sustaned ”‘N saive of money, with each currency unit having greater purch

for ey
aSinq p,H““ )

Bad deflation

Bad defiation takes place when the price leve| is
down by a fall in aggregate demand as shown in
below.

driVe,q
figure

Price Level
A

v

o Y, Y, RealGDP

Effects:

1.Deflation causes real wage to rise, which tends to
raise unemployment and reduce profit, which, in turn,
triggers investment fall and thereby a fall in AD and
income and increase in unemployment.

2.Deflation leads to an increase in real interest rate,
which tends to raise the cost of debt and thereby
discourages investment, causing income to fall and
unemployment to rise.

3.Deflation causes the expected price to fall, which, in
turn, causes consumption and investment to fall and
aggregate supply to rise. The latter two events
reinforce each other to cause price to fall further
developing into a deflationary spiral.

4.May result in menu costs. ‘7@

5.Deflation will increase the burden of de%@ﬁ th
borrowers and government. ®

The above factors are obviously very ha n\f}?k{‘an

economy and therefore all governmen théir best to

MEG

A .

overcome the deflationary threat. )Y
\Y)
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pAST PAPER QUESTIONS

ropic: Function or Characteﬂsﬂcs of Mone
4

(Nov 2015/P22/Q3/a)
Explain what is meant by the term 'm
(Jun 2014/P21/Q4/a), (Jun 201

Explain what is meant by the term
economy.
June 2012/21/Q2/a)

Explain why all types of economic system benefi

oney’ and outline its 'charact istics i
erist \ 8
4/P23lQ2/a) istics in a modern economy. (8]

‘money’ o
NeY" and outline its characteristics in a modern twenty-first century

8l

(June 2010/21/Q2/b) tfrom the existence and use of money. (8]
Discuss how the operation of a b

(Nov 2008/Q2/a) arter economy would be affected by the introduction of money. (12
Explain the characteristics requi I

(June 1996/a) Quired by money if it is to carry out its functions effectively. (8]

Explain why economies make use of money

(8]
Topic: Causes of Inflation

(June 2016/P23/Q3/a)
Use aggregate demand and aggre

ate . e . -
cases of inflation. gate supply analysis to distinguish between cost-push and dgmand p[LgI;
(Specimen Paper 2016/P2/Q3/a)

Deﬁng the_ components of aggregate demand and, with the help of a diagram, explain how an increase in
spending in an economy might result in inflation.

8]
(Nov 2015/P21/Q3/a)

with the help of diagrams, explain how both cost-push and demand-pull inflation can be caused by a
falling exchange rate.

8
(June 2015/P23/Q4/a) “
Define each component of aggregate demand and, using a diagram, show how a reduction in one of
these components might reduce inflationary pressure in an economy. (8]
(June 2015/P21/Q4/a)
Explain what acts as money in a modern economy and what is likely to happen to the price level if the
quantity of money increases significantly. (8]
(Nov 2014/P23/Q3/a)
Explain why an increase in the money supply and rising world energy prices are categorized as %‘fﬁsnt
causes of inflation in an economy. . p 6\
(Nov 2014/P22/Q4/b) Y L
Discuss whether inflation is more likely to be caused by a shift in an economy’s aggre g\ §q"1and ora
shift in its aggregate supply. 0 ‘]:\
(Jun 2014/P22/Q4/a) g& &) |
Using diagrams, explain the difference between demand-pull and cost-push caus% f(pflation. [8]
(Jun 2014/P22/Q4/b) WO o
Distinguish between the domestic and external consequences of inflati ing Qiscuss which is most
damaging to an economy. & & (12]
(June 2013/P22/Q3/a) S . .
Define the components of aggregate demand and, with the help of Qg%m, explain how an increase In
spending in an economy might result in inflation. Q_i/&s 8]
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21/Q3/0) , the factors thal will lead to an increase 1N aggregale de,,
( diagrams analyse th cle s more likaly to have an impast on ""hn:"' ar
( ¢ o g

(June 20137
whether this

help O
and discuss

'ngﬂ_.’aft(‘

with the
1z

sﬁg;op';);/merﬂ in that econom
(Nov 2012(’21”03,? - agareqate demand (AD) and aggregale supply (AS) diagram, the Utherg
Explarn, W W.uig%e‘;{aié?pﬁl m}iahon on redl output ",
effect of cost-pus 2 ne j
P23/04/3) i explain the existence of ifiztion i
LJ un:;O;:.meQaw gemand and aggregale supply analysis &P 1 N gt
OW ¢ aguity m
? )
run’
2010/ p23/Q3/b) ment aclions.
g;‘::ss whether rapid infiation €21 be caused only by govern g 12
/Qé4/b : ; ,
glunc 2::;:;2? el )behaviouf of producers, consumers of govemmemb that ts most iikely 1o cay,
ISCUSS
infiation. e
10/23/Q3/b Ty | '
g:fz:szv?hether inflaﬂo)n is more likely to be caused by domestic of international influences f12]
June 2008/Q3/b) , , ¢ inflation 5
t‘)i:cuss whether 2 widespread shortagé of labor might be 2 MaJor cause of infizio 11
v 2006/Q4/a o ot
g‘x:lain the differerzce petween cost-push inflation and demand-pull infiztion. 1
Nov 2001) (a) . o .
E:_xplain the giﬁerent petween cost-push inflation and demand-pull inflation. 119]
(Nov 2001/a) ' ”
Explain what causes inflation.
(Nov 1999/a) . ' )
in recent year, the rate of inflation in many countries has been low. Suggest possible rezones why zn
infiation rate may be low.
(June 1998) ' ‘ , .
In the UK, the growth in retail sales in the year ending June "1996'wa§ higher than expecied. e
(a) Would you support the implication of this statement than inflation is caused Dy consumer spending?(12]
(June 1994/a) ' _ , "
Explain the meaning of the phrase ‘fall in inflation’ and discuss what might cause 2 fall in infiation.  [15]
(Nov 1992) o ‘
ersistent rise in its general price leyel, 8

Explain why a country may experience 2 p
Topic: Effects of Inflation
o

. . 0 6
(Specimen Paper 2016/P2/Q3/b) Ky
If an economy is expesiencing infiation, discuss the yiew that its goyernment should be 1
sbout the extemal effects of inflation than its effects within the domestic economy. % (12]
(Nov 2015/P21/Q3/b) R 2L
Distinguish between the domestic and extermal consequences of inflation and discills Mﬁ; are the moe
damaging 1o a0 economy, o (12]

(June 2015/P23/04/b) &g
Discuss the impact of 2 high rate of inflation on the consumers ' economy assess
whEAhEr ConsUmers of producers would suffer more and prog ,agb%n an (12]

(June 2013/P22/Q3/b) 7;;5

an economy 16 experiencing inflation, discu /

st the extemal effects than its effects v/mm? mt«tew d;/:g:{;?cat WWMM $00ud b more W?fzdl
oy
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(Nov 2012/P22/Q4/b)
iscuss whether it is better for a government to raise the economy's rate of productivity growth or to
control its rate of inflation. (12]
(Nov 2012/P21/Q3/b)
Discuss whether the effect of the rate of inflation on the exchange rate is more or less important than the
offect of the exchange rate on the rate of inflation. (12]
(June 2012/P23/Q4/b)
Discuss whether a period of inflation or a period of deflation is more economically desirable. (12]
(Nov 201 0/P23/Q3/a)
Explain why a low and stable rate of inflation may be beneficial to an economy. (8]
(June 201 0/23/Q3/a)
Explain why unanticipated inflation is often considered more of a problem than anticipated inflation. (8]
(June 2009/Q4/a)
f its money is unstable. (8]

Explain why there can be problems for an economy if the internal value o

(Nov 2008/Q2/b)

Discuss whether a country should welcome a period of deflation (negative inflation). [12]
(June 2007/Q3/b)

Discuss how a rapid rate of inflation might affect different groups within an economy. (12]
(June 2005/b)

Discuss wWhether stability in the domestic value of money is essential for a country’s economic well-beir[\1gé]
(Nov 2004/Q2/b)

Discuss the view that inflation is always a major problem. [12]
(June 2003/Q4/b) '

Discuss whether inflation is necessarily harmful. (12]
(June 2002/b)

Discuss why reducing inflation is often the most important task for a government. [12]
(June 1999/a) _

What are the advantages of a low rate of inflation? [10]
(Nov 1994/b)

Discuss why a high rate of inflation might have an adverse effect on output and employment. [13]
(Nov 1993/b)
Discuss why the government is concerned to keep the rate of inflation at a low level. [10]
(Nov 1990)
Distinguish between the domestic and external consequences of inflation. What do you believe to be
more important for the United Kingdom?

&

of Inflation on the Functions of Money

Topic: Effects
(June 2017/P23/Q4/a) o0

| N
(June 2016/P23/Q3/b) NOUN
Distinguish between the domestic and the external consequences of inflation, a#@'c%qgi’der which you
think is more serious for an economy. & © (12]
(Nov 2015/P22/Q3/b) O
Discuss whether money is able to perform all its functions effectively in an eGoagmy that is experiencing a
high rate of inflation. & (12]
(Jun 2014/P21/Q4/b) &
Discuss whether money is able to perform all of its functions in a&@bq’ﬁrgmy that is experiencing a high
rate of inflation. & ‘ (12]
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(Nov 2004/Q2/a)

Explain how inflation affects the function of money
ots of inflation on the abilty of money ¢, Pt

(Nov 1993) He
Describe the functions of money and discuss the efle 112}

these functions.
Topic: Measurement of Inflation

(Nov 2012/P22/Q4/a) , nd why they usuzfl
Explain why governments measure changes in the general price level 2 y ey Y have More
than one measure of these changes.

(Nov 2010/P21/Q4/a) o
Explain why it is important to have an accurate measure of infiation. 2

(June 2007/Q3/a)

Explain how the rate of inflation is measured, #
(Nov 1992)(a)

How is the value of money measured? 12
Topic: Problems with the Measurement of Inflation

(Nov 2010/P21/Q4/b) .
Discuss the methods and problems involved in constructing an accurate measure of the rate of mﬂaﬁon.nz;

(June 2009/Q4/b) o .
Discuss whether it is possible to construct a consumer price index that is an accurate measure“of
2

changes in the cost of living for all households.

(June 2003/Q4/a)
Explain the difficulties of measuring inflation accurately. (8]

(Nov 1992)
How substantial are the problems involved in measuring changes in the value of money? [13)
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. Specialization and division of labor

. Principles of absolute and comparatlve

advantage

the distinction between absolute and

comparative advantage

_  free trade area, customs union,
monetary union, full economic union

_ trade creation and trade diversion

_ the benefits of free trade, including the

trading possibility curve

. Protectionism

—  the meaning of protectionism in the
~context of international trade
_ different methods of protection and
their impact, for example, tariffs, import
duties and quotas, export subsidies,
embargoes, voluntary export restraints
(VERs) and excessive administrative
* burdens (‘red-tape’)

i the arguments in favor of protectionism
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PPC of X

PPCaf Y

O

—

0 30 Ty Cigthing

it can be seen from the above diagram that country X can produce Z maximun of &7 fooe or 30 clathing.
While country Y can produce 2 maximum of 20 food or 40 clcthing.

Therefore, it can be concluded that country X is capable to produce marz food thar courtry Y 2N TES 3N
absolute advantage in food production whereas country v has an zbsciute zduantege M Soiirg
production and should specialize in it. So we can say that 2 country whiciT 20 grocucs MorE ouDu of 2
product than the other is said to have an absolute zdvantzge in that product

If each country specializes in the product in which it has an zbsclute zdvantzge arc Ten T=c=s, b=sed
on opportunity cost ratios, total output will rise, and both countries will be ztie o corsume oS Producss.
It can be explained by the following example.

If both countries decide to produce both goods and not to trade, i.e., to self-sufficent and =2c0 coumiry
distributes half of her resources in each good production then country X will procuce 30 food 2nd 15
clothing while country Y will produce 10 food and 20 clothing, i.e., haif of what ey maxmum can
produce of each good. According to theory of absolute advantage:

Country X - absolute advantage = Food
Country Y — absolute advantage = Clothing

If both countries decide to specialize completely in the product they have respectve shsolute ach
then after complete specialized country X will be producing 60 food but O ciothing anc mz% be
O

producing 0 food but 40 clothing as shown in the table below: 0\0
B eperaizaion | e speciaizsion IOV
Food Clothing Food | Clothing Q\?\éb

Country X | 30 15 60 0 .Y
Country Y | 10 20 0 40 )\ _59

Word | 40 35 60 40 ¥

Gains - - 60—-40=20 %3_

o

. <
?Norld output increases in both food and clothing according fffgx‘above example. There will be an
ncrease of 20 units in food production and 5 units gain in clothing gfoduction.
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f exchange they will have i

trade to each country depend upon the rate o Ve in trade

&Jﬁ%é'ﬁmmu of exchange always lies in between opportunity cost ratios of two COUntriees fgr‘utua"y
83 8

product.
Theory of Comparative advantage

Although absolute advantage explains a small proportion of global trade, more trade is bas
comparative advantage. ed o
Comparative advantage exists when a country can produce a good at lower opportunity cost, Meanin,
has to give up less of another good compared to the other country. ng it

For example, the country X may be more efficient than country Y at producing both tea ang Cof

Nevertheless, both countries can still benefit from specializing and trading if the country X COnCentrafe'
on producing the product it is more efficient at producing and Country Y specializes in the product it jg s
so relatively inefficient in producing not

This theory can also be explained with help of a diagram as shown below:
A

Tea
40 £\
30
PPCof Y
D B R
0 10 40 Coffee

From the above diagram, it can be seen country X is capable to produce more of both goods (40 units of
tea and 40 units of coffee) than country Y (30 units of tea and 10 units of coffee). Therefore country X has
an absolute advantage in both goods production country Y has no absolute advantage in any product. In
this case, decision of specialization cannot be made on the total production or absolute advantage basis.
We will have to consider their relative opportunity costs. Country which has a lower opportunity costs wil

have a comparative advantage in that product. It can be calculated from the above diagram as shown in
the table below: &

. N
Opportunity cost of: | Country X | Country Y Z}"

N
40 Tea = 40 Coffee | 30 Tea = 10 Coffee ' \'\\0,\:\
1 unit of Coffee 40/40 = 1 Tea 30/10 =3 Tea y ~0qu’
1 unit of Tea 40/40 = 1 Coffee | 10/30 = 0.3 Coffeg X @0
XY
Country ‘X' = comparative advantage — Coffee q\(\@.o,\c)

Country 'Y" = comparative advantage - Tea

0 v
nf? of tea whereas opportun’’y

he other hand, opportunity 0%

Opportunity cost of country X for producing 1 unit of coffee is equal t
ePportunity cost of country Y

cost of country Y producing 1 unit of coffee is equal to 3 units of
of country X producing 1 unit
producing 1 unit of tea is e

of tea is equal to 1 unit of coffee
3 /.3 i #i=Y-

24 S 0 CNImes
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Hence, it can be concluded that country X has a comparative advantage in coffee production and should
gpecialize I coffee while country Y has a comparative advantage in tea production.

Absolute advantage i Comparative advantage
is based 0N total production. is based on opportunity costs
a country can have an absolute advantage in no country can have a comparative advantage in
basis of trade

both goods and therefore does not serve as basis
of trade specialization in all cases

W

both goods and therefore serves as
specialization in all cases

Mutually beneficial rate of exchange:

A mutually beneficial rate of exchange always lies in between opportunity cost ratios of two countries for

same product.

will have a specialization in coffee
country Y will export tea and import
than it forgoes at home for its one

Continuing the example from comparative advantage, country X
production and will export coffee and import tea. On the other hand
coffee. Trade will only be beneficial to a country if it can import more
unit of export.

Domestic opportunity | Looking from trade against its

X

Specialize and

Coffee

Tea

cost
1 Coffee =1 Tea

one unit of export
More than 1 Tea

Y

Tea

Coffee

1 Tea = 0.3 Coffee

More than 0.3 Coffee

Let us consider three different rates of exchange and their suitability for both countries.

Beneficial for country:

Rate of exchange

1 Tea = 5 Coffee 1Coffegr=4Tea 1Coffeg:2Tea
Or —4/4 = —1/9 =
1 Coffee = 0.2 Tea 1 Teac—ozf/:e—o.zs 1 Teac_of1f/eze— 0.5
X No Yes Yes
Y Yes No Yes

Hence, a mutually beneficial rate of exchange always lies in betwee

countries for same product.

1 Tea < 1 Coffee <3 Tea

Such as,

Trading possibility curve (TPC):

Trading possibility curve (TPC) is
can trade with given volume 0

Continuing with above example,
its production possibility curve (P
opportunity costs, i.e., rate of excha
Tea.' it will be able to have 80 units 0
maximum production point of coffee
point ‘E’ as shown in the diagram be

rate of exchange between the countries.

WwW

or

f exports at given mut

_i.e., point ‘B’ with maximum
low. Slope of trading possipiliy

0.3 Coffee < 1 Tea < 1 Coffee

a curve that shows maximum possible quantities
ually beneficial rate of exchangQ

country X will choose to specialize in coffee
PC). Trading Possibility Line (curve) can
nge. If it sells all the tractors at goiqf?\

f tea in exchange. So trading p%
ility lge

s

w.youtube.com/megalecture

ra
Jine will be a line that joins its
tea it can have by trade, i.e.,

o

:f exchange 1 Coffee

will show the mutually benefi
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A % Consumption point

40
\(\ after trade
./

20 N \ Production point
- PPCof X after specialization
7 b
£ B N

0 39___40 Coffee

Export

It is clear from the diagram that Country X gains from trading and specialization. When trag;
opportunities arise, Country X gpecializes in coffee and exchanges internationally at the rate of 1 Coffee =
2 Tea. If it exports 10 units of coffee and imports 20 units of tea, it consumes bundle ‘'F’ (20 Tea +3g
Coffee) after trade. Bundle 'F' was beyond its production possibility and therefore, is better off than before
trade. Hence a country can consume more that it can produce in short run through international trade.
Similar analysis can be applied to country Y and can be proved that it will also gain from trade by
specializing according to its comparative advantage.

How comparative advantage explains the trade pattern of Pakistan

[ Trade Pattern of Pakistan

Sports goods
Textile
Agricultural goods
Tourism

| Surgical Equipment

Machinery
Medicines
Consumer goods
Tourism

Oil

The theory of comparative advantage is a satisfactory explanation of the trade pattern of a country to the
extent that it predicts that gains will arise from the trade in line with a country's comparative advantage.
For example, a country like Pakistan, which is a less developed country, is more efficient in the
production of primary goods, but less efficient in the production of secondary and tertiary goods. Pakistan
has a rich agricultural land and numerous farmers so it is comparatively cheaper for Pakistan to specialize
in the products mentioned. It is also not to be ignored that our 62% population lives in rural areas ( in
2014) and is dependent upon agricultural goods and to some extent manufactured goods a}low
opportunity cost as compare to its trading partner such at UAE, KSA, EU, Japan, and China. q9e
pattern in based on the principle of comparative advantage because principle of comparativ {@ ge
says that each country will specialize in the product which it can produce at low opportunit%o n the
present world, most of less developed countries like Pakistan specialize and export aQri@4 uld goods,
minerals, metals and other such type of goods which are land intensive. On the other atountry ke
UK, which is a developed country, specializes in secondary and tertiary sectors. It Sthanufactured
goods like electronics and machinery as well as services like insurance, banking, e ng etc.

Limitations of absolute and comparative advantagg@é,’é‘%y:
A)

Despite its importance, comparative advantage does no i ) f global
trade. There are a number of reasons for this.g t provide a fulgﬁpkn'ation of the patier o
o id

1. There are never only two countries (bilateral tr @ rid. 4
, ( ade) or onlﬂw ood in the wor™
Real world trade is multilateral and countries produce milli®ns of gsoggisng|gr%q HM
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Hence pattern of trade of any country explained by
some extent but there are other factors and assump

Protectionism

Protectionism refers to a trade policy whi
give competit i o
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i ane @ vast numbder of products, it may be difficult to determine where a country's
gAY aavamage les

,:_,.‘, govemmENTs Tay wani 1o avoid overspecialization.

g O EXCHANDE T3 not Iie batween the opportunity cost ratios of countries

e goVETIMETIS T2V IMPOSE trade restrictions like tariffs and quotas which may modify or offeet
g gams T comparative advantage.

—orpEEWE aovamiage theory assumes that resources are homogenous all over the country which ig
o T NO UMDY TRCEIVES constant returns, has homogenous resources or perfectly mobile
ESOUTTES 9:3:1.:::?1'!?_\' of resources (output per unit of input per unit of time), in reality, is varying over
e TouTy . Somewnere there 1s agricultural fertile land, at other places it in barren and some of it is
—werEt DY UToan areas. Simitarly productivity of labor and capital varies within a country. As
0TS VETY. OPDOTIUNTY COSt of production also vary as shown by the real PPC's which is curved
TR

A

Good Y

e

Good X

i the presence of non-homogenous resowces and existence of outward bending PPCs, according to
o of increasing opportunity cost, a country may lose its comparative advantage far before the
compiete speciglization as opportunity cost will increase with increase in specialization in one
prosiuct

Tre distrioution of resources, technology, and product distinctiveness among nations, however is not
toreyer fixed, As national economies evolve, the size and quality of their labor forces may change, the
Jolume and composition of their capital stocks may shift, new technologies may develop, and even -
the quality of land and quality of natural resources may be altergd. As such changes occur; the
relztive efficiency with which a nation can produce specific goods will also change. Countries do not
stways adapt to changes in comparative advantage. For example, over time a country may
continue to produce steel despite another country being relatively more efficient at producing it. In
such a case, those involved in steel production in the country that has lost the comparative advantage
may iry to persuade their government to impose trade restrictions on steel imported from the country

that has now gained the comparative advantage. B N o
Countries may not trade according to comparative advantage due to political and religious 0(;3\0
N

motives. - '
Membership of trading blocs like SAFTA (South Asian Free Trade Association) may ha@rc\;{ffe ent

frad heory of comparative advantage.
O P ervency o 6 iation or depreciation also aff%‘)% Dbut

Changes in currency exchange rates, i.., apprec
comparative advantage is based on barter trade Q o
the principle of comparative‘\‘a%\va_,ntage satisfactory to

tions of theory that |imigi§’taepﬁcation in real world.

2

@ " o
ch restricts imports an@_@%fes domestic industries In order to
stry of an economy. ¢\¢‘ '
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impact
sthods of protection and their
" ade with the rest of the word. Tne,,, are |

tr
Fyery country operates soma form of restrcton on A% . s, There are soms conpas”
methods that & government can use protect As GOmMes m"“"’m"’m v some o 1
1o unaerstand first before we study the impact of proection econom

Domestic Demand (D°) pomestic supply (8% World supply (SWM)
)0 ' “

(otal supply of @ product | Means supply of a prodyc ¢,

Means total demand of 3 Means . tocal and both local and foreign firme.
product by local residents for mﬁg r;"; m Vb the | international market. A Singll:
Do oce a?d ;mh her m; ceteris paribus, higher pﬁoe ‘ oountr); will supply only 3 fraction |
piesid aeipopiis. and means greates profitability of of world market and therefore |
demanded ot k:]wcr pno;m domestic firms and therefore will not be able to Create any

vice versa as sl own in more supply leading to upward ghortagg or surplus in '

diagram below: sloping supply curve as shown international market. This wil| 5

country price taker and worlg
supply for the country will be
perfectly elastic as shown in the

in the diagram below.

figure below:
\4
Pree Price P,r::e
T » v
Sd
P,
P, P,
P‘ P1 wamld
D’
0 Q Q Quantlt? 0 Q, Q aq = N
uantit >
’ ‘ 1o Q Q Quantity

However, this may not be the
case if ' country supplies, a
significant share of world n)a?fgg}
e.9., KSA or OPEC sup%ty“ngg\on
in world market. 0

e\

* u ,\
N
Law of one price: With the absence of transport costs and protectionism betweersﬁgﬁvo'\mmes' one
product will have one price expressed in same currency at all locations. Q Q

®©

international price relative to domestic price.

No trade, export and Import: Whether a country will trade, export or g\%\m depends upon {®
8)
The following table and diagrams can also explain this: ‘

ww.youtube.com/megalecture

MEGA LECTURE

tu ‘


www.youtube.com/megalecture

Online Classes : Mggalecture@amail.com
www.youtube.cbm/megalecture g A T e
www.megalecture.com

ynit k!

No trade

i rice = internation ) ‘
pomestic P al| Domestic prics < wternators et ez > rrerators
| p/('lge._,,,_,,, — price ) res
- pnoe Priep T ¢ A T
N A "ﬁ
.
b 8’ <
N 3
o \\‘ E.t(/,‘:,
t —— T o o
FER [ B
P, S A PN ;
N g
N
o AN
0 Q Quanmy 0 0] (‘:l7 Quar:'..ff
1. Tariffs
Tariffs are the best known method of protection and are sometimes referred i 25 cusioms cutes Ta5s
are taxes usually on imports but may also be imposed on exports.
S Tariff on imports _ Tariff on exports
- toraise revenue ~  toraise revenue
- to discourage consumption of imports. — to increase supply of the procuct on T2

domestic market

Tariffs may be ad valorem, i.e., the percentage of price of the imports, or specific, ie., a 5x per uni of
weight or physical quantity. Tariffs, also called custom duties, act exactly the same way as 2 =x
artificially raising the price of foreign products as they enter the country. Instant effects of tanffs would be
the rise in the price of imports which will reduce volume of imports, increase in government revenue and
an eventual increase in domestic production. The effects of tariffs can also be analyzed through a
diagram as shown below:

After Price
Free trade tariff
Domestic supply (S9) S Sh
World supply (S%) Sywortd Saworld
Domestic demand D¢ D¢
Price OP+ OP2 #
Domestic production 0Qxs OQs | <‘fo
Domestic 0Qz 0Qs Sz_ , (Agﬁ“a%&m.
consumption S, "z(laef,oj% taniff;
Imports quantity Q:Q2 Q3Q4 P P N .\5\
Per unit tariff - P1P2 i AV ,\‘b% .
Total tariff revenue — c ' O Quantity
Domestic A+b+c+d+e+f e+f
Consumer's surplus
Domestic Producer's 9 g+a
| surplus
H -— b+d o )’»
| Dead weight loss 0@

T f ific tariff. Domestic dgnf@n‘a }is shown by the domestic demand
he figure above shows the effect of a specific tart. : > der
curVeg(D") and the domestic supply curve (S9). When the country'engages in free trade the price is set
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where domestic demand equals the world supply (S1%°"), In this situation, domestic Consumerg
OQ: quantity at a price of OP1. Quantity OQ is supplied by domestic producers and QiQ, purch"%

imported. entiy i

The imposition of a tariff shifts the world supply to Sa*rld. This raises the price to OP; ang re
domestic consumption to OQa. However, domestic production increases from 0Q; to 0Qs ang i:]ua
p

from Q1Qz to QaQu.

2. Quotas

Quota§ are limits on imports. The limits are usually imposed on the quantity of imports p

'somehm'es‘ imposed on the value of imports that can be purchased each year. Restrictin thu

imports is ln_kely to drive up their price. So, as with tariffs, quotas are likely to disadvantagegco oupply of

they result in them paying higher prices and consuming fewer products. Unlike tariffs quotasnsumers as

ggjtora:‘ste reven%e fo.Ej tr;e government. In this case, it is the sellers of the imports that w'ill receiw;J ?ﬁ: “e t
unt per unit paid by consumers. In s ' ian fi Xira

o per uni o? - q)ll.l o ome cases, however, licenses are sold to foreign firms to sg

€5 the

t are alsg

3. Exchange control

t t . . . . ' !

4. Subsidies

T S, (before subsidy)
S (after subsidy)

4

) Q—"—P’ Quantity of Ioc?lgood o0

The losers will be the foreign firms and domestic taxpayers. Domestic producers will gain. Conéy{?\ef% wil
al_so benefit in th_e short run. In the long run, however, they may lose if the more efficient fo ‘eﬁh\ﬁ?’ms are
driven out of business and the subsidized domestic firms raise their prices. \\b,\»'\

S. Embargoes \.)O"bq/

An embargo is a complete ban either on the imports of a particular product orq ade with a particular

country. A government may want to ban the import of a product that it regards& harmful, e.g., non-

prescription drugs or weapons. A ban on trade with a particular country may® Ise from political disputes.
N

6. Voluntary export restraints (VER) b &
(g

A voluntary export restraint is an agreement between two co }{\es?@where the government of the
eXporting country agrees to restrict the volume of its exports oKa&% gfén'n good or services. It may do this
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MEGA LECTURE

agalecture.com



www.youtube.com/megalecture

Online Classes : Megalecture@agmail.com
www.youtube.com/megalecture
www shegalecture.com

gt

yariffs OF quotas being imposed on

. . its pro .
'gup:;n‘:e’s and with the USA in the export of Itspca?:_m' Japan has entered into a number of VERs with

omic and administrative burdeng (°
7'

red tapo’)
o 1aPe means making import process m
R

ma tict consumer choice.
res
N Keeping the exchange rate below its market valuye

verment may manipulate the country's exchange rate in order to give it
;\dva ntage. This may lead to other governments lowering their exchang: rga“tI:sfts procucers & competive

g, Government preferential purchase policy

vemment ma:jy havde a policy of placing orders with domestic producers in preference to importers
even if tfhat‘élre goods and services are cheaper or of a better quality. In case the demand for imports is
likely to

10. Patriotic campaigns

Governments can seek to switch consumption from imports to domestic products by running campaigns
extolling the virtues of buying home produced goods an P y g paig

d services and emphasizing the quality.
Effectiveness of protectionism:

A tariff will be more effective in raising revenue if demand for imports is price inelastic whereas
itlwil:- be more effective in protecting the domestic industry if demand for imports is price
elastic.

There is the possibility that the imposition of a tariff may not make domestic products more price
competitive. This would be the case if the price of the import plus the tariff is still below the
domestic price or if firms selling the imports absorb the tariff and do not raise their prices.

If the UK imposes restrictions on, say, Japan, then Japan may retaliate and impose restrictions
on the UK. The increased use of tariffs and other restrictions can lead to a trade war, with each
country cutting back on imports from other countries. In the end, everyone loses.

Countries may not be able to use protectionism measures against members of a trading bloc.

Protectionism may not be effective if domestic firms do not have a capacity to supply enough
for domestic consumption.

The arguments in faver of free trade and against protectionism

Free international trade is the exchange of goods and services across national borders wit&qﬁ&xy
government restrictions. When free trade exists: 6\,\0003

~  firms are free to export and import what they want in the quantities they want \\f/\,'\)\

- no taxes or limits are imposed on exports and imports _ 30,.{;1,

~ no subsidies are given to distort cost advantages , Q Q

- there is no unnecessary paperwork involved. \?q@)

: N S

Benefits of free international include: $ P

XX}

1. There is an increase in the world output and gains for the il@vigé‘?aﬁ coun:\ry as a tresult Eif
specialization and trade. This has been illustrated earlier whe (b&yen though a country cotp
produce all commodities more cheaply than other, it woul@ W2gain as long as comparative
advantage differs. v &

NG
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2. There is wider consumer choice As a result of international trade,_ Fhere is a Greater .
coods and services to choose from. Consumers can choose commodities that cannot be arig
\Bcaiy and those goods which are too expensive to be produced locally. Prog

3. Internabonal trade generates income and brings about higher economic growth 4 he
higher standard of living. The expansion of output for export also creates employment

4. Intenational trade promotes level and understanding through cultural exchanges, Visit
consultations such as trade fairs. This improves relationship among trading partners of the S .
Examples include ASEAN, NAFTA (North American Free Trade Association), EU etc. .._
differences could be minimized and compromise can be easily made among friends. -

5. International trade brings about the sharing of new knowledge and information. New technojo,
acquired. Research and development programs from developed countries through trade. '

6. With international trade, there will be keen competition which forces firms to be cost effective ang
efficient. They will have to produce at lower cost and they must also improve on their produyctigs
techniques as well as the quality of their products. Inefficient firms will be forced to close down, &

7. International trade can also solve the problem of indebtedness. When countries borrow from banke
other govenments or from international institutions (IMF and World Bank), they are in debt. Throygh
international trade, goods and services are imported thereby earning foreign exchange. Foreig
reserves will increase and these additional reserves can be used to pay debts. '

8. International trade will prevent the formation of monopoly in the country. Through internationg
trade, foreign goods and services come into the country and this will create competition. Increa od
competition that may arise from free trade can put pressure on firms to keep their prices and cost
down and raise the quality of their products. As a result, consumers may enjoy lower prices ang
better products than would have been the case in the absence of free trade.

9. Firms may also be able to buy raw materials and capital goods at lower prices. Having a globg
market to sell to may enable firms to produce a higher output and so take greater advantage G
economies of scale.

10. Efficient allocation of resources: Free trade permits countries that have, for instance, fertile lang
and the appropriate climate to concentrate on growing oranges while other countries that have thf
financial institutions and well-educated workers to concentrate on banking. Countries will able &
concentrate on producing those products that they have a comparative advantage in.

The arguments in favor of protectionism and against free trade

N0
Despite the potential advantages of free trade, most countries impose import restrictions. Th\e_,tég.ﬂ‘e S
number of arguments that may be put forward for doing this. ) \00
N

1. To protect Infant Industries: Infant industries are new industries that have a Io@tﬁ/&’aﬂd a hige
average cost. Firms In a new Industry may find it difficult to survive when faced withvGempetition o8
more established, larger foreign firms. This maybe because the foreign firms & t?gﬁg advantage ¢
economies of scale and benefiting from their names being well-known. _\‘@& &L

\
Protecting a new Infant industry may give It time to grow and so benefiNygeconomies of scale ?]
to gain a global reputation. If the infant (also called sunrise) industrﬁbas&‘he potential to develop "
an efficient Industry Iin line with comparative advantage, the ggﬁ\g trade restrictions nfayti ‘
Justified. It I8, however, difficult to identify which new industrie ARiafévelop and gain a ch’P“f?t .
advantage. It is, for example, very difficult to estimate the | &n\average cost curves of firms "ti 0
industry. There is also the risk that an infant industry mayibecome dependent on protec
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that rival foreign products a ' .y
gwmg'rts osts. re being made artificially expensive, it may not feel any pressure

declining in :
To Pf"‘:::e > dvantggle d;:"::‘?' ': d“"'“'"g (a[so called sunset) industries, which have lost their
oomp;’o yment. If the N dustry i: business quickly there may be a sudden and large rise in
gnem granted protection and that protection is gradually removed,

nt might be avoided. As the i i
ne : ein .
U T eave for jobs in other industries. dustry reduces its output, some workers may retire and

' in, howe i i .
There i?eaadmt’o oons\i,:er}aablgs:( thﬁ?t 'the industry may resist reductions in the protection it receives.
This Ca nefficiency. For example, a country’s steel industry may have lost it

gompafaﬁ"e advantage while its car industry does have a comparative advantage. If the government

tariffs on steel, it will disad ' : ' :

im ‘ ‘ vantage its car industry, which will now have to buy more
expensive steel from domestic producers. This will raise | ' i

iy lose + sales at home and abroad, the car industry's costs of production and so

To protect strategic industries: Some governments seek (o protect industries that produce

oducts they reggrd as strategic, such as weapons, fuel and food. They may not want to be
dependent on forelgn‘sqpphes of these products. For example, a government may be worried that
firms and households in its country would be seriously disadvantaged if fuel was cut off due to a trade

dispute or a military confiict. As a result it may protect some home industries even if they are
relatively inefficient.

To prevent dumping: There may be an economic justification for imposing trade restrictions in the

case of dumping as this practice may he regarded as unfair competition. Dumping involves selling
products at below their cost price. ,

in the short run, home consumers will benefit from dumping as they will enjoy lower prices. In the
jong run, however, if the foreign firms drive out the domestic firms, they may gain a monopoly and
then raise their prices. Indeed, foreign firms may engage in dumping with the specific intention of

gaining control of a market in another country by destroying existing competition and preventing new
domestic firms from becoming established.

Foreign firms may be able to engage in dumping by covering losses with previous supernormal
profits, by charging high prices in their home markets or because they receive subsidies from their
governments.

In practice, it can be difficult to determine if dumping is taking place or whether the foreign firms have
gained a comparative advantage.

To reduce reliance on goods with little dynamic potential: Many developing countrie diave
traditionally exported primary products: food stuffs and raw-materials. The world demand, fﬁl‘e e,
however, i fairly income inelastic and grows relatively slowly. In such cases, free tradednQot an
engine of growth, Instead, if it encourages countries’ economies to become locked in jQ pattern of
primary production, it may prevent them from expanding in sectors like manufactyrng™whi h have a
higher income elasticity of demand. There may thus be a valid argument for prote tg@or promoting
manufacturing industry. ' @0

To Improve the terms of trade: If a country purchases a large pro o@«@i another country or
countries’ exports of a product, it may be able to force down its price. Byyrigosing trade resgrigtions, it
can lower demand and as its demand s significant this may lead t%gﬁer price. This will improve
the country’s terms of trade and allow it to purchase more importz yfb same quantity of exports.
Q

Similarly, if a country accounts for a significant proportion gh B rid's supply of a product, quotas
on its exports may improve its terms of trade. Restricting th ly of exports will drive up their price
and so increase the purchasing power of exports.
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rse, such action d
nt may impose trade restricti,.. .
g tariffs may encourage (‘; i
by g )nsu

retaliation. .
: over
i ce of payments. A g )
To I thz:ta;acgount position. For lr)stance, imposin
'S i buying domestiC products.
gn governments do retaliate py |
ey

' improve i rent
switch from buying imports t0
iation. If forei

‘ i wever, may provoke retaliation. It . |

s t?gg:an'r:sotdcﬁons then, while the country’s imports ma)(; dfatmll SQfmlght its exports s
o“ge would decline and again global output w_ould fall. In addition, | the, country’s prog. o

itr:?emationally competitive because of strategic problems, trade restrictions would oty a’%°r\q

short-term boost to the current account. by, :

fnu,fg

f demerit goods: A country may want to ban or seve
ic literature cigarettes and alcohol. "ely curtai g,

imports ©
drugs, pornograph

gs such as

on from cheap labor: It is
from countries where wage
tandards in the country woul

mean that a country will be
r costs may actually be r

untries have a co

trictions on products produced using slave or

mposing trade res
may be more appropriate as trade restrictions m
untries. , ay

g. To prevent the

importation of thin
sometimes argued that trade restrictions shoulg

s are very low. The view is that, in ord

d have to fall. This is not a very str:rr]gtoafom )
able to produce products more cheapl 9 .ment
elatively high. If low wages are}; 28 "y
mparative advantage. oy

9. To provide protecti
imposed on products
wages and SO living s

Low wages do not always
be low and so labo

productivity may
linked to low costs, it may indicate that the co
There may be moral arguments for i
child labor. Even here, however, other approaches
drive down wages even further in relatively poor cO
may be used to raise revenue. This will be successful if demand for imports

10. To raise revenue: Tariffs
is inelastic.
t to reduce its trade protection: A government may also engage

11. To persuade another governmen
in trade restr!’cb’ons to try to persuade another government to reduce its trade protection. B
retaliating against, for instance, another government imposing a quota on its exports, it may persﬁadtya
the other government to remove its quota. There is, however, a risk that a trade war \,Nill develop.
es to avoid the
per, Cuba with

ment may seek to protect a range of industri
self-

hly specialized economy — Zambia with cop

12. To avoid overspecialization: A govern
ket fluctuations. Greater diversity and greater

risks attached to overspecialization. A hig
sufgfa( — will be highly susceptible to world mar
sufficiency, although may be leading to less efficiency, can reduce these risks

9

Trade blocs or international economic Integration ‘ 0
it

International economic inte
nal ¢ integration or trade b '
preferential trade agreements hetween member ?:unf:‘;lﬁ:sﬂs roglnal groupings of o
' N
‘\0\,'\

youtube.com/megalecture

MEGA LECTURE



www.youtube.com/megalecture

Online Classes : Megalecture@gmail.com
www.youtube.com/megalecture
www.métalecture.com

Custom Union

International Trade

Full
economic
union

Economic &
Monetary Union

FFree trade among v
w’_ v v v
i Common extemal
it with non- x v v v
| members _— ]
[ ommon currency x x v v |
Common monetary |
& exchangeé rate x x v v ‘
S o -
resources__ * Y DA
% col(nmon fiscal % i % Ve
 policy |
The world's oldest | 1. Mercosur is a Idnlffeef:Zﬁtt' the
North American customs union is South American economies
Free Trade the Southern Africa | trading bloc which become one
Agreement Customs Union has l_\rgentlna, economy.
(NAFTA). This (SACU). Its Brazil, Paraguay, | This occurred
Examples consists of the members include Uruguay and when the 13
USA. Canada and Botswana, Lesotho, Venezuela as full original states
Mexi'co Namibia, South members. formed the
. Africa and - | United States
Swaziland. 2. The European of America
Union (EU) ’

Monetary union: involves economies operating the same currency, as the members of the euro area do.
Economic union: a trade bloc where there is free trade between member countries, a common external

tariff and some common economic policies, which may include a common currency.

Membership

Association of Southeast Asian Brunei, Burma, Cambodia, Indonesia, Laos, Malaysia, Philippines,
Nations (ASEAN) Singapore, Thailand, Vietnam

Anguilla, Antigua and Barbuda, Bahamas, Belize, Dominica, Grenada,
Guyana, Haiti, Jamaica, Montserrat, Saint Kitts and Nevis, Saint
t and the Grenadines, Suriname, Trinidad and

Caribbean Community and
Common Market (CARICOM) Lucia, Saint Vincen
Tobaao

East African Community (EAC) Kenya, Rwanda, Tanzania and Uganda
Benin, Burkina Faso, Cape Verde, Gambia, Ghana, Guinea, Guinea-

Economic Community of West : ao AT g
African States (EC OVyVA ) E;?:eu"ll'\é%%’ Coast, Liberia, Mali, Niger, Nigeria, Senegal, Sierra

GCC (Gulf Cooperation Council) ~ [Kuwait, Bahrain, Oman, Qatar, Saudi Arabia, United Arab Emirates

Ob '2)&\
% ¢
o
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Hile '

Consequences of tormation of trading hlocs;

1. Trade creation

i card DI 18 ynestc production 1s replaced Ly
e CEANON DoCurs where high ©0sl domestc | PIREes by more wtm,

. . . ;HY,Y
imnats om within the rading DA

bf(,%
"OIN0va! o o,

mambers 10 spacalze in those products in which they have arc‘ompaluhvt:" :i’lv:ant:,g(: [ ,ﬁ:""”tm
Aamestc products can be replaced by imponts from another member country that geo owesr - Xty
efioent firme within the trade bloc will be able 10 sell 1o 3 larger market and this may e, ‘

ances even turthel because they will be able 10 take greater advantage of eConormies «f

Mambarship of a lrade bioc Mmay give nse 1o ade crealtion This occurs whien the

b‘{: t.’lf-‘{t‘l’ t" Yf*
Stale 9
Fioure below shows the effect of trade creation Before joining ghe trade bloc, the price of the o

me country 18 OP and the quantity consumed is OQ:z. Of this smount, OQ; IS Supplie '
nroaucers and Q«Qp amount is imported When the country joins the trade bloc, it can im

g y U0, -y

: POt the oy~
without paying the tanff This pushes down the price to OP; and the amount consumed .(,Cf%‘::'gu:
Consumers clearly gain from the lower price and the greater quantity consumed. "
Price
11
S’

P = - S,“"(Trade with tariff)
P. W c S,”*(Trading bloc
’ %}" P without tariff)
2R |
0 Q, Q Q,“L Quantity
Trade created
Befo ade creation | After trade creation
Domestic supply (S¢) g Sd | 9
World supply (S*) Syworld Saworkd ] OQS\O
Domestic demand D¢ D¢ ;}00
Price OP, OP:2 5 gg N
. . \ M /
. Domestic production 0Q; 0Qs 2'qt
el n
“Domestic consumption 0Q; oY Q|
Lrl;mpons quantity Q1Q: i_li)__,,
i% Per unit tanff PP Ai\vﬂoo
‘ Total tanff revenue c s WA
Sy e &

 Domestic Consumer's surplus e+l Uktorcrarert
Domestic ?roducers surplus g+a Vo, (CTD g |

Welfare gain @w‘} 'y +d

— - 7S b+d

| Trade created _ Ay -Q4
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International Trade

ower price. They may, however, be shifting

cers lose as their sales fall and they gain a |
ive to those of member

king products that have now become more price competitive relat

of the removal of other tariffs, indeed, trade creation permits both imports to be

heaply but also additional exports to be sold as other members lose their tariff
s nevertheless a welfare

tic government will lose out on tariff revenue but there i
mount. Producer surplus falls by an

an amount equals to b and d.

estic produ
ces to ma
.es because
more €

urchased
grotection. The dqmeg.
lower price increases consumer surplus by a, b, cand d a

gain- The L A R
amount of a and tariff revenue by an amount of ¢, giving a net gain of

2, Trade diversion
sion means where tradeswith a low-cost country outside a customs union is influenced by

Trade diver J
products supplied from within.

higher—cost
Trade diversion occurs when membership of a trade bloc results in a country buyin
try within the trade bloc rather than from a more efficient country outsi

efficient coun _
less efficient allocation of resources. Efficient countries outside the trade bloc may lose as
now able to trade on equal terms. A country joining the trade bloc may also lose. :
hows that originally the country (UK) buys a product (butter) from the most efficient country

and places a tariff on imports of the product.

g imports from a less
de. This results in @
they are not

Figure below s
(New Zealand)

Price of butter

Domestic S¢

Supply from New Zealand (With tariff)

Supply from Denmark (Without tariff)

\Supply from New Zealand (Without tariff)
d .

s D >
Q, Quantity
When trading with New Zealand | After trade with Denmark
Domestic supply (S9) s S
Price OP; OP: .
Domestic production : 0Qxs 0Qs A0
Domestic consumption : 0Q2 0Q4 )\(,\Y\Q‘o
Imports quantity Qi1Q2 QBTN
Per unit tari NN
g riff P1P3 O
| Total tariff revenue c+h V3P
 Domestic Consumer's surplus e+f o R% +d+e+f
r8/’;"‘@5% Producer's surplus g+a o7 g
elfare gain (in consumer su N
— " rplus) - N +
Welfare loss _ e@\‘ < H d
Net welfare gai ' O'b ot
 Net welfare gain or loss ~ » <l (b+d)—h
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ad a common tarltf on all buller Imports, and bought frop, |,
a tarif), The price paid I8 Py, the quantily consumed iy (), )
Wi the trade bloc, trade Is diverted o n mey,

Refore the UK joined the LU Ith
Zealand (at price Py, Including l
revenue eamed is ¢ + h. When the counlry Jolr

Denmark.

After it joins the EU It can benofit from tarllf free importa from Denmark mu! other I\ Produge
price to consumers falla to P2 and the quantity consumed rlsos lo Qa. I (mhm CONBUMAT gy 0
¢ + and UK dalry farmers lose producer surplus of a; the loss of tarllf rovenue from Importy fro
Zealand Is ¢ + I,

Ny
Jor C()Un

There will be a net loss from trade divarsion In Joining the EU If b+ d (the net gain in congypmg, 8
Is less than h (the loss of tariff revenue from New Zealand Imports). A nel gain from trado diversion
arise o
if b+ d is greater than h,
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pAST PAPERS QUESTION

Topic: Theory of Absolute & Comparative A
2016/P23/Q4/a) A

Juneé ) i ’
Use production possibility diagrams to explai P , }

e gard 0 { living of consumers in a COunt‘r)y ' n how specialisation and international trade can improve the
(Nov 2015/P22/Q4/a) (%]

o N;?ﬁﬁ,ﬂz v;?::dc?gg :r?gtnr:ry is more efficient at producing one product and the other courtry is
more er product. Explain why specialisation and trade usually benefit both

countries.

(Nov 2015/P22/Q4/b) o
Suppose B0 country is more efficient at producing both . o

specialisation and trade will always benefit both cougtries products. Discuss whether it is the case qu;
(Nov 2015/P21/Q4/a) .

Ass:mi, in a two-country, two-product world, that one economy is more efficient at producing both
products.

Explain how the efficient economy can benefit from specialisation and trade with the less efficient
economy. [8]
(Nov 2014/P23/Q4/a)

Explain how comparative advantage shows that specialisation and international trade can im

welfare of consumers in an economy.

prove the

(June 201 3/P21/Q4/a)

In a two country world one country is more efficient at producing one product and the other country is
more gfﬁcient at producing another product. Explain why specialisation and trade usually benefit both
countries. [8]
(June 201 3/P21/Q4/b)

Suppose one country were more efficient at producing both products. Discuss whether it is the case that
specialisation and trade will always benefit both countries. [12]
(Nov 201 2/P21/Q4/a)

Use economic analysis to explain the benefits of international trade. [8]
(Nov 2011/P21/Q3/a)

Explain what determines a country’s comparative advantage in production. (8]
(Nov 2008/P2/Q4/a)

How might opportunity cost help to explain the pattern of international trade? [8]
(Nov 2006/Q3/a)

Explain the difference between absolute and comparative advantage. [10]
(June 2001/a) ' @Q
Explain how a policy of protecting 2 domestic market denies an economy the full bsggﬁgé of
specialisation. 0’\.00 [12]
(Nov 2000) R4 N

(a) Explain the theory of comparative advantage. _ o N q’\’ )
(b) Discuss how the concepts of opportunity cost may be useful in explaining wr%ga.@nés trade with
each other. ® [15]
(Nov 1998) 2

Do you agree that the policy of protecting a domestic market denies &I‘ %c,ﬁnomy the benefits of
specialisation and should, therefore, not be adopted? ¢ \‘A{‘:” (25]
(Nov 1997) 5

Do you agree with the view that specialization and competition shgﬁa&'be extended to all areas of the
economy, both internal and international? Q_g‘ﬁx" [25]
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